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,-,az‘an —'check, i.e. 2 move threatemng to captur on the next move.. |
-dame.— neutral points which profit neither Black nor White. .
.dan — a rank given to players to indicate theiristrength at the game
+= When a player’s strength improves after attgining the rank of 1-kyu,

_ Thls volume 1sa contmuatmn of the. second volume of GRADED G IR
PROBLEMS FOR BEGINNERS and 15 aimed. at the 15—kyu to 20-ky

;‘ player.. i: _ : | : -he 18 promoted to-amateur i-dan and as he becomes stronger, the:
The:problems presented here will require some thought, but none 0% C -: numerical value' of his dan increases. The top amateur dan rank is
them is so difficult that a player who understands the rules, has had e . L“usually_ 6-dan. The professtonal. dan ranks s tai‘t at i-dan and g0 up: '
some experience playing games, and has studied the first and aeconq' - i+ to 9-dan, which 15 the highest rank attainable. A professional ‘1-dan"
. volumes of this series would not be. able to solve them in less than fix e b .+ 2is ugwally about two stones-stronger than an 1mateur 6-dan. See kyu.

minute. © - : : R S a‘ouble.aran - g1v1ng atary to two different gr¢ups of stones at’ the:

Since'the aim of*this series is to present as many exampies of g i same time. o
technique” as possible, 1 have avoided giving 4lot of different varfatlons Ye —a point on the board which 1s surrounded by StOHES Of the .
of possible answers. The reader-is advised to attempt to ‘refute’ the ame color.

correct answer until he knows beyond 4 doubt that the corfect answer“ . H'—.a shape in which your stone is captured bdt it 15 11163“1 to_retake'
he rn ader - - he captunng stones even though you can oc:{u y all of its liberties... .~

1. - i .
does in fact work. By pondering each, problei in hl 5 Way,, ¥ -—.a rank given to players to indicate their strength at the game. -
will develop an mstmct for fmdmg the w1nn1ng move in his games. _ “Beginners. are arb1tran1y classified at 30- u and as they become -

stronger, the. numencal value of thewr kyu !decreases. For example,
< 15-kyu is stronger than 20-kyu. See dan, oo s L
g:zkade — a large eye-s pace wihich,. by SKIHfuI ;la!y, can be reduced to a
S single eye o o : ek
" ofotoshl — move which gives atari to a group of stones 1n such away
7 thatno matter how one-defends, the group mll still be in atan, :
oshrrsubushz — a shape in which you give atari to two or more of your ..
o opponent’s stones in such a way that he ca rmbt defend against this
- atari w1thout comrmttmg suicide,
g@fgﬂ —“an pnpasse ‘or stalemate between groups. if one side tnes to .}
g watta.,k the other side’s group, his own gro 1pps put into atari and %
o “dies:iTherefore, neither side can attack or attempt to atari. 54
mapback — a tactic 1n which one stone is offgred as a sacrifice and if . |

1t is taken, the capturing stones are in turn captured

March, 19'8? o . T Kano Yosmnor19dan;‘ '
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PART ONE

PROBLEMS




i % SECTION 1. MIDDLE-GAME PROBLEMS
o@—?
16000 1
, : O@BAOHTOT
' : PEOBLEM 1. Black to play. PROBLEM 3. Black to play.
How should Black piay so-as Black should play so as to
- to completely surround thBWhltc prevent the|capture of- hxs two
SR stoncs‘? o B stones on thh second lme ;
: fL {
I INTERMEDIATE PROBLEMS o R
LEVEL ONE
" Section 1. Middle Game e Problems.. ... . " r@@n{ g i
.- Section 2. Opening Problems” . .o vwveav. s ‘ @ @CHEX
“Sectlon?; Living Groups and Dead- Groups R DO anGuus j—— .
. SECtIQ‘l 4, Endgame Problvms RPN ; '. Ve e - BB T v
' PROBLEM 4. Black to play.

e What i$ Black’s best move?...
i-‘escaye with  his’ two smoneq in : Ve T

v . : th_e ccntrer L
TOTEQDOLO0 4
41 3%‘:1 A_ [ N .
k TOT8O8 O %@@Q@@ ST
e QOO TE 1<
- ) P’{OBLEM 5. Black to play PROBLE J 6. ‘Black to play.
How should Blac}c play? The first ‘thmg Black should

do is mak aure that his . two

i stones at. t o bottom cannot be
captured. |- ;l
-2- ~3- *l |
l

.
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PROBLEM 7, Black to play.
How siouid Black play so as
to capture the eu,ht white stoncs

PROBLEM 9, Black to play.
" White 17
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PROBLEM 1!, Black to play.
How , should Black play so as
: ,'to capture the seven white >t0nes
at the top‘? o

T s

-stones on the nght‘?

o PROBLEM 10 Black to play.. | - " f;PﬁwﬁBLEM 15. White to play. PROBLEM }6 “White to piay.
How should Black ra,spon(l to B

“to capture the two white stones|

la_u.,"‘ L= 4 - . ) ’ .ow_‘ 5.

S

[
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o e e

PRORBLEM 8 Black to play. + i PROBLEM !3. Black to play. : PROBLEM J 4. White to play.

How -should Black play so as+ = - ...~ How should. Black play so as How shoujd{White play so as

to capiure the thirteen wlntn, .*to'capture seven white stones? to link up hisithree stones at the
N A D top to the onesion the left?

e;@@()(
A AT

~How can White save his five © How can _Wh;te capture SIX

How should ‘Black tesporid to| - v ) ‘ ,
s endangered stones? black stones? [ ..

White 1% e . *t
i . g |
— 1,

PROBLEM 12, Rlack to play. b IR R PROBLEM 17 Black o, play : PROBLEMP&' Whltel tO?PIaJ’
How should Black play so as | RS SR "Blick has a move which will How snoul[d Whltep ay?

. ¢reate.a ko for the 11fe of the
B whn@stonus on the 1eft

1n the center? . '
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PROBLEM 19.Black to play.
How. can ‘Black link up- his

.. stones’ on -the right to the ones
& on. thc feft? -

5@@0

,
X
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PROBLEM 21. Black to play.
‘How can -Black - win the
capturing race?

PROBLEM 23 Wh:te io play

' 'What 18 Whlte S best move‘?

- wh;te stones?

'_\‘

O

L LOPB-
PROBLEM 20. Black'to play. _
¥ow can Black capture mght'
mte stones”

,L:

I‘ROBLEM 22, Be’ack to play.
#f you strike at the vital pomnt, | -
you can kill the white stones, -~

RROBLEM 24, Black to plzy
.: How: ¢an :Black: capture four

T

" .PROBLEM 25, Black 1o play.
"..How. can 'Black .capture some
- of' White’s stones?.. .

L

PROBLEM 27 thte to play.
. How can White link up his

. _two groups?

'?i_l t

‘How does’ Black kill
“white stones in the corner?

 PROBLEM.29, Black to play.

the

. PROBI _
How canl White capture-three
black stoneg? -~ -~

T - -
[ 26. White to play.
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PROBLEM 28. White to play.
How should White play?
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PROBLEM 30. Black to play.

How can Rlack capture the -

white stonps in the corner?
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PROBLEM 31. White to play

black stones"

\ 1
¥

PROBLEM 33. Black to play.
How should Black play?

How- can Wlnte capture three ,

YT
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How should Black play"

i e T
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. PROBLEM 35, Blackto play; o

-Feﬁf__
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U PROBLEM 37. Black to play.

PROBLEM 32. Whn‘e to play.
jow siould White plav?

--How should Black play?

PROBLEM 34. Black to play.
Eere you are asked to cap
elthur ﬁ\m or.six white stones,- SR

- PROBLEM 39. Blackito play.
e *How rshould Black: play so as
-_'to capture all the wh1te stones‘?

: .]' ,I .

!

black stones? .

PQOBLEM 36. Whitetto Dby,
How can:White capture three =

SR

white stor

. undangcr'Td stones?
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PROBLE 128 38, Black ro piay.
How can% Blauk capture three

-
¥

fﬁ;t-;gfé;;iz

DROBLEEM 40, Black to play.
How should Black piay so as
to capj:_urf: four white stones?

Fedlst
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PROBLEM 42. White to play.
How cani White save his seven
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PROBLEM43, Black to plav PR(.*BLEM 44 Black to play
How should Black play so as . How snould Black play'f’
to capture the eight wmte stones

ORI
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{)6%0 seell - Ce 1
1808000080 I
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PROBI EM45. White' z‘o play .
How- should White . play so as -
to capture three blacl_c stones?

T
)

. PROBLEM 4§, Good or “bad?]
u *L eeping: at 1. forcmg; Whﬂ~ :

g T

-

“Black.to play:

. :Among ‘the points. Al

‘through D; which is the
" moét-important one for

‘Blac‘f -to play’?
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FROBLEM 51 o

I

Rlack to play.

In the position at the .1
_bottom left, how should .

\/

Black responci to Whlte

—~11 ~
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Biack to play.

- “Black respond to Wlute
I‘? -

PROBLEM 53
‘Black to play.

In the posttion at the
bottomleft,should Black
respond to White i by
attaching at A or B?

PROBLEM 54 - .
‘Black to play.

PROBLEM 55
-Black to play..:

White 17

- PROBLEM 52 -

D

In the position at the [
top=right, how should |-

f \.4‘ - ‘..I" i S .
N

| .-Qt?

., This is a position that |

- Often. arises in 4-stone
" handicap games. . How 1
; should Black rPsponct to

B, YA I PR,

This 15 .also-a 4"_S.tCi el
handicap position, How
should Black respond to

S e B -

NE

=

PROBLEM 56

Black to play.

“In the. opening; it is [

p@gmetlmes more import-

“ant toplay on an urgent

" ypomt than to:map out

* territory.. In’thisposi-

“tjon, where should Bldck

- oplay?

oy
Ny

g -

~
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. LIVING GROUPS AND

PR OBLEM 5 7
Black plays and lzves.

: tr_'lﬁ:ublc solving this problem.

Blac p‘ays White dies.
vkill :‘White by making
in-the-corner shape.

fak]

= st;dnes tactic, you' will have no
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[ - PROBLEM 59

' Black plays White dies.
"Black can kill White by mak-

ing a 6-space big eye. -

PROBLEM'LG: |
'Black plays White dies..

- fate of'the _wmte grqup

T*H‘_‘r'—r—'_“*_ ; -‘--f"

Blick’s first move dec ides the

L
% 1600,
— %
OO
PKOBLEM 63

 Black playsand lives.

stones 1f he 1s gou;g to live.

Black has 1o sacrifice two

i 4: -

" PROBLEM 60
Rlack plays and lives. i

Thers 18 2 double ko :n this-
positicn. How does Black live? |

- Black pIays and lwes :
By “making -a.shape- kn&wn 2
he™ ’omb formahdn B’[ack’

1

55

::. S \ .
HQL) %
Y TS
4. PROBLEMSGS. PRLBL]_:M 66 0

Bluck plays and makes a ko.”
I you sa rifice a stone two -
times, you can ge.t ako. . L

~Black plays and lives.
Make two eyes for the black:
‘grouts,

" pROBLEMG67  PROBLED
Black plays White:dies.. " Black plays and makes & ko.

irice . three. of, White’s. stones ~ Black can kill. W}nte by mak-"_:
-short. of hbertxes ‘the whole mg a KO E it

L

oo
.

l
i
|
o
1
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PRpﬁLEM 70

‘ PROBLEM 64
‘Black:plays White dies.

Kidl the thrce wmte stoqes

in the comf*r

e "SROBLEM 69
| Black plays White dies.

e .'If you use the stone on the 1st
line you can kill White.

Black plays and lives.
You have td play on the v;tal

noint. \

—15 —
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PROBLLM 7  PROBLEM 72 Lk  PROBLEM 77, Black 10 play. PROBLEM 78 White to play.
, Black plays White dies. . Black plays and lives. 5 Mdke a vig endgame move, © 1t general, which 1s the bigger
Since four of White's stones Be @ bit cautious before pla o B 3¥ endgame fnove A or B? &
are short of liberties, all the -mg th fu‘st move. : Fce L L or_
- white stones die. :
é ' % _ - Sk
- : o '
S A, ‘- 1

* . PROBLEM 73 PROBLEM 74 PROBLEM 8(? thre 1o play.

o w Black plays White dzés. PRI . Black plays and lzveh, "What s Whlte 5 most proht-
" You-can kill White by takmg - - Blagk has. to able move? |Fi.
-advantage of his shortage of liber-:- pomt. S SR LN
les.: ST ' b o N N
5
i IR
: i & O -5 -
i I FOOT @@+
AN _ | S It |2 ‘[ —() -
‘ - A ‘_ N
@$ %QD) ' e | »@
-1 ’ L ' SE A N WY I I o [ S : & :
. PROBLEM 75 S . PROBLEM76 | " PRQBLEM 81, Black to play. . PROBLEM|82. Black to play.
Black plays and lives. : Black. plays and lives., \ : "Hew should Black play after What 1s t1e1 most profitable
Black can live by makmg a - Black can- hve by sacmfml g ! Whﬁﬂ 1 and 37 - way for Bl4 g,lq to respond to
sekl. - e two stones. . S : White [ and 37|
S o w ‘ S o
e . | S




PROBLEM 83. Black to play.
What 15 the most profitable
way for Black to reduce White’s
temtory‘? ' '

.

'PROBLEM 85 White opzay
What is - the“most profitableé

way for White to reduce Black’§ B

temtory”

| -\aay for.

PROBLEM 84 Black to pl 2y

iWhat -1s. the most- profltable'
- wuay. for Black to reduce Wh1tes 7

ter r1tory'? _ : L

-w}‘lte stones" :

i INTERMEDIATE PROBLEMS :
LEVEL TWO .. :

2 Living. Groups -and. Dead Groups

EndgameProblems

‘: M1dd1e Game Problems Ciiee e W
Opemng ProblmS oo o\ o v s vihes

.
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PROBLEM 87. Bluck to play. PROBLEM 85. Black to play.. S T 1 e '\{P@@@
- Howshould Black play in order How shiould Black play in ord(,r ' R - N '
to capture two white stones?. - to vapture. two white stones? diesr o PROBLEM 94 White to p!ay
. - L e T B : ~ :Should Whlte: sacnﬁce OF sav
- P W I I . : S DR © s stoneiin atdri? ., .
o T r} PN I
TP FOeHte T OO
. PROBLEM 89. Black to play. -+ PROBLEM 90, White to play. @@ —
How does Black take advantage . In order to separate Black 1nto : e : ' ' ‘

‘of White’s shortage of liberties? =~ = two groups, Wh1te has to sacrifice. - .ROBLEM 95 Black to play. PROBLEM. 96 Black to piay.
o . - o astcme ‘ . I—’ew should Black playm order - Black can; |capture the five
g F i to capture three Whlte stones" - white stones|in the corner.

|- A AN ; § /50(5 :f I : :
e hd \j Y T - AlB
v F @@( CJ _ o /)@ ,. ' :
R I i 4N ' el i
T EHe b @@@ e
, 'PROBLEM 91. Black to play. .-~ - PROBLEM 92. White t9 play 7 §ich S v M o B ! : -
" By sacrificing the three stones Haw’ should White sacrzﬂceihls PKOBLEM 97. Black to play. : PROBLE 98 Biack to play.
n the right using asqueeze tactic, ~ stong in atari? | S By sacrificing. two: “stones, Black -can cqptul;e one stone.
Black can get a good position, N P S i _ ;Black.can geta good pOSItlon How should he .play
o _ , ' I -
- | ’ 2 ]
: 20~ ! -
| R
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PROBLEM 99. Black to play. FROBLEM 100. Black to.play.
+If Black sacrifices a stc_me he How should Black -play so as: & * .6 N T S R I G S :
can link up his stones. to- uncondltlonally lmk up His two - }_’ROBLEM 105 i Black to piajz PROBLEM 106 White to play.
| gruups" | e ‘;_5 o ‘I-Ia:ew should Black play so as -~ How can| White ‘capture two
g o +t- SR St o " black stones ahd rescue his four i
L S stones in thec rner" e e
; CHEFOOOS
IR g
PROBLEM 10 }ROBLEM 102 Blac’c to play o 1 88080 -_
Black has :‘Black - his a Sent move tha S B Tt B ’"\ : .1 (D
ensures all of his. stones ‘are; " ensuresall of “lus ~ar : e ' @@@ % &3
connected. o L “connectéd.: f’BLI:M 107. Black to play. PROBLEM LIdS Black to play.
__-1,;_.;_.‘1- - ﬂow can BIaCK capturc four _ How does Black play. so as
4 to capture six whlte stones"
.Q : :

[ d 5 ‘ ) ) I :
- o -f .3 Rt ., . £ )

PROBLEM 103. Black to piay.  PROBLEM 104, White io ;llay'_ A N B T A R .
ROBLEM 109, Black to play. PROBLEM [110 Black to play.
By sacrifxclng a stone, Black can

“All the black. stones are 'im ‘Black’s . position 1s thin. How i A
snould White play? R . Where should Black cut?
s ‘ R ' - geparate White into two groups.

danger How can: some of them be
saved? o L S R o

1
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PROBLEM 111, Black to play. .
Save Black's two endangered

stones.

PROBL "“M 113, Black to play..
“How: can Black c‘lpturc fwe

wmte stom,:.?

Do
Il

PROBLEM 115, Black fo play.

endangered stones and capture
six white ones? S

‘How- can Black save his two -

PR OBLEM 112. Black'to m’ay

Liow does Black pla ¥ SO 4s to

capture three white stones? | -

Aldked

PROBLEM 114. Black to play.

Black can link up all ‘his groups -

: by :,apturmg two whxtc stoncs.

ROBI EM 1 I 6 Black to p
%Iow s‘muid Black play"

v -

Y
—%

PROBLEM 117, Black to play.

e Blag:k plays - the ‘shape’
move, his five stones. will live.

-groups from lml{mg up"

BLEM 121, E_Idcic .to’pt'ay.

capture eiglit white stones.

gw does Wh1te prevent the

‘Iack can break the seki and

i
— 25— ' ‘1
| e

3

+ . .
PR OBLEA/) 118  Black 10 play.

How can :_.Elack capture two
white stoneg?

‘ | }__CJ
HibE
B

PROBLEM 1'2 “Black to play.
Black -can: link up his two
groups. by safnf_xcmg a stone.

b

o~
9,

b

BE ‘ H R N i | S |
PROBLEM FZZ Black to play.
How should Black play?

b

.- ‘MW—A_‘W.—-.—_.MM- - o
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PROBLEM

123 Black to play.
~ How does Black play so as to
save six of his endangered stones?

g b PROBLEM 129. Black o play,

. How.ean Black prevent five of

PROELEM 124. Black to play. ..
:How: does Black play sq

-~ capture three white scones?

his‘stones from being captured
:anzlget senteat the same time?

;i

as to

Fa ek

M U RE ‘ [ r
PROBLEM 125. Black to play.
Black has to sacrifice a stone
in order to connect his groups:

I

%@ %$%?9§§%%

i
A
. L

apture $ix white stones. 1 «."

7. ‘Black-to play

PROBLEM 126, Black to play. .
‘tiree endangered 'stones.
ones on'the left? =

PROBLE

o . 4 . .
PROBLEM 13I. Black to play.

- Link up Black’s five stones m
the corner to the ones on the

o right.

‘How - does Black link up his -
o the .

How should Bllack play?

“Capture three white’ stones

PSOBLEM 133. Black to play,

~1n the corn

~27— -

A A T

Ed

Link up

~ the corner’

left.

=3 . - P T D .
PROBLEM 130. Black to play..

Black's two stones in
“to ‘the ones-on-the

b
Y

A
o

PROBLEM
How snlould Black play so as
to capture sixfl white stones?

132. Black to play.

i

O

‘PROBLEM,134. Black to play.

Link up

left,

the two' black stones '
eri to the ones on the

i
b
|
|
!
i
E
Cb o
!




PROBLEM 138 |

“Blacktoplay.. -~
“Among the ":three
points. A, B and C, ( N
ﬁwmcn one is best" _ ] I
My
1 ‘ : - C
. PROBLEM 135. Black to oy PROBLEM 736, Black 1o pzay.---= .
‘Before Black. -can capture any “How should Blacfc play? "
. white stones,. he must correct - l '
. the defect in his shape. 5 fl)‘ )
SEE"‘TION 2. OPEN]’QG PROBLEMS ;~_ ‘ g "
( t é@g@ 1 PROBLEM 139 = [~ '
| Byt @@@ H - Black to play..
A " Black has two. good
yays of responding to O
Wlute 1. What are they‘? ) .

T B

g

BT
£z

A%

S R PROBLEM 137 White to play
- Among the three points A B and ft wm»h one is the bést"

|
1
t
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" PROBLEM 14D

Black to play.

In the upper right,

now “should Black at-

tack, the tnree wmte

&

ST

JIRES W
SOEN

stones”

B
P
4

e ter

L ‘—" H
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PROBLEM 141

Black to play.’

'Ih the lower left, how

should Black attack the
white position?’

. PROBLEM 142
Black to play.:
How -should
1eaponc1 to thte 1‘?

Black |—

: - L - -
Lo SECTIQN"3. LIVING GROUPS ANIp DEAD GROUFPS

£

Black plays-Wite dies. -
.'Black catn. uncondluomlly kilt

=08 .
758
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: PROBLEM 144 ql’RéBLEM 145

Black plays and makes a ko.
‘The |only way to kill White is -
through ai ko.

PROBLEM 146
“ Black plays and. lzves
You have to play on the 1-2

P.ROBLEM 14 7
: ack.piays and. lives.
Ther 13 4’ clever move Wthh
relieves Biack’s shortage of lib-
erties a d g1Ves him two eyes.
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Blaclc plays and lives.

WO eyes

Blau,k needs - space to make
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| PROBLEM 149 "
Black ptays White dies. :
If - Black - sacrifices a stone,
White di'cs.i .

|




" PROBLEM ISI
Black plays White dies.

PR OBLEM 1 50.
Black rlays and lives.
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PROBLEM 152

~ Black plays and wins..
. -..Black can capture the five .
..Wmt"‘ stones in -the corner: by
' ,'startmg a double Ko,
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- PROBLEM 155 |
Black plays Whize dies..

PROBLEM 1 54
Black plays White dies.. .
" Your first msp1rat1on may not

" be'the correct move. iy 6 -space. b1g, eye.
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Black can live by sacnfxcmg “Black has ‘to make a.twor
a stone. _ srong sacnflcc in- order o 1(11‘
; White. :

PROBL MJ53 Sl
B!aclc plays White dzeg U
*You . can kill White:by Talcmg_- =
a 5= space bxg eye e o

You ‘can kill Wh1te by makmg :

: PROBLEM 156

'w ~Black plays and makes a ko.

“Black can consider.it a success

[ifhe cdn get & ko.m the corner.

. PROBLEM 157
i Blagckiplays and wins.

Black !can:capture the seven
wihiie stones in the corner,

-

PROBLEM 158
B!ack plays and wins.
.w-How™ can Black. pliy so as to
apture four wrute stones’*

. [
PR OBLEM I 6 0
White plays and-wins.

'i
4

gase his liberties. Then he can
in the capturing race,

First of all, White has to.in-
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! ROBLEM 159
‘Black|plays and wins.
Black Lcan rwin the capturing
race by s riking at the vital point
n the cmkner._ _

ROBLEM 1 6].
Bla klplays and wins.

A S5-space. big eye gives you
eight 1ib 1t ies, With this hint,
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PROBLEM 162
White to play.

‘There is 2 move that will catch

cither two black stones: on the

1eft or four onthe r1ght .
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PROBLEM 164
- ~“Black to play o
W1th a’ httle‘ihoug,ht you can
capture 4 whitestone: ‘without
' gettmg mvolved m ako. fight.

‘RROBLEM 166
Whne to play.
If you: Know the
jump’, you ‘can make & big re-
duchon mn Black 5 terntory

‘monkey

. can capture three of his stones. -

| should BlacK play‘?
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PROBLEM 1 65’
- Whate to play
If you take advantage of
. Black’s shortage of libeities, you o

| " PROBLEM 165
Black tosplay.)
“is.a bad mpve.: How

WMte

Sl gl
PROBLFMI(S?- o
 Black to play}" =~ ST

Whit’s four stones bn this left
~are short of liberties. E{ow does
BlacK take advamaoc of thig? 7'

|
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el . - -~PROBLEM 168. Black ¢ yay o

‘ -In “the position at the top, what 1s the most broﬁtab}e way for Black
1o mVade thte S temtory" S
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. - PROBLEM 169. Black t4
In ‘the pos1t10n at the bottom, what 15’ th
Black‘? R i b
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. INTERMEDIATE PROBLEMS % |
”IEVELTHREE R S L
IJFEAND[EATHPROBLEMS”" o -

Section 1. Life and Death B R T
- Section 2. Ko .. e et e R TIRCREr
Section 3. Sekl SRR
Sect;on 4 Capturmg Races

- .PROBLEM ?70 (3moves)
~”€@ckpkWSB%u€d@&

PROBLEW,

Black plays Wh

PROBLEM 173 (3 moves)

Black plays White dies.

1]
. : PROBLE}VI 175 {3 moves)
lack plays White dies. Black plays White dies.
' —37- “
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. PROBLEM 1823 moves) - PROBLEM.183 (3 moves):
' 5 Black plays Whtte dies. Black plays White dies.””

PROBLEM 176 (3 moves) " PROBLEM 1774 3 mdves)
Black plays and lives. j

: Bl_ack p_k_zys Whre dies.
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PR OBLEMIS4 (3. moves) " " PROBLEM 185 (3 moves)
" Black plays White dies. Black plays White dies. B
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" PROBLEM 179.(1'move) "
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. Black plays and lives...
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PROBLEM 187 (5 moves)
White ’Flays B!ack dies.

o " PROBLEM: 180 (3 moves) ) PROBLEM 18] (3 %
Black plays and lives. L Black plays and li
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PROBLEM 188¢( 3 moves)
Black plays and Iwes

PROBLEM 1897 mq
Black plays and l_zveq.

ves)
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PROBLEM 190 (3 moves)
© Black plays _White dies.

i
PROBLEM 191 (1 1
Black plays thte d

1

ove)
ies. <

" PROBLEM 194.(3 moves)

VPROBLEM 192 (1 move)
Black plays White dies.
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PROBLEM 193 (1 move) _
" Black plays. and lwe L

Whte plays Black dies.

PROBL
Black

EM 195(3 moves)
kiplays White dies.
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" PROBLEM-196 (3 moves)

White plays Bla¢k dies.

PROBLEM 197 (1 move)

Blgck plays and lives.
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PROBLEM 198 (1.move)
Black plays and lives.

_41 —

PRO LEM 199 (1 move)
fyplays and lives.
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PROBLEM 206 (3 moves) . PROBLEM 207(3
- Black plqy_s'_White_.dieS. _ Blacé pIays Wh(ltemdoi::S)

- PROBLEM 200 (Z'move) PROBLEM 201 (3 moves).
. Black plrzys and lives. . - ‘Black plays thre dzes

PROBLEM 202 "J move) PROBLEM 203 (3 movc.)' e
~White piays ‘Black dies. .~ - White plays Black dies,

]

PROBLEM 208 (3 moves) PROBLEM 209 (3 moves)
f Black pla ys_ White. d:e;. : Black p‘ilays White dies,
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: 7 webe )l TPROBLEM 210 (3'moves) PRO LEM2II (1 move)
BLE 204 1 move) - PROBLE M205(7move) sl 4
PRB?acj?c ;fliys an(d st " Black plays Wh:t " d:eis. W;T?lte plays and l_‘__z_ves. WhTe plays and lives.
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" PROBLEM 212(1 move)
' - Black ptays and lives.

__PROBLEM 213(3 mov%s)

LEM 21 a5 hoves)

¢ plays White dies.

. PROB,
_Blac

Black plays and. lives. [
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PROBLEM 214 (1 move}
. Black plays thte dies. -

PROBLE’M 221 (3 moves)
Wn.‘rte plays and lives,

e PROBLEM 220 ( Limove)
i White plgys and lives.

PROBLEM 215 {1 mobe) <
Blacfc vIayS ani l:ves.‘ Nt
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. PROBLEM 217(3 ma))es) - PRO,BLEM 722 {3 Hoves 8] LEM 223 (3 moves
PRB(?fCI;ﬁ% 5slgn(d Ir:;g;e) Black plays White dzeu . - Black plays White dics. Iac\k Rlays White dies.
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PROBLEM 224 (3.moves) -
Black plays and lives..

0ee-+O+1T1 1717
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. Black plays Ff.{bite_.‘=die.;.--

PROBLEM 225 (3 moves).

RERRE
I 1 i

PROBLEM226 (1 mové)

Blaclc,ﬁ.ld}{&dﬂd lives. .
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ROBLEM 227:(3 move
Black plays Whig'di

i

|

)

3RS

[ IR S B R

™~

PROBLEM 228 (3 moves)
- Black plays White dies.

A A4S
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PROBLEM 229.(3 movjes)
" Black plays White dics. - -

l
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= PROBLEM 230 (3 moves)
-Black plays White dies.

. PROBLEM 231 {3.moves)

. White\plays and lives. -

PR OBLEM 232( 3 moves)
Black plays White dies.

=/

Black plays and lives.
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“:+ PROBLEM 234 (1.move)

Black plays and lives.
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PROBLEM 235 (1 move)
White ;;nlays and lives.

1
|

PR OBFFM 233 (5 moves)
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PROBLEM 236 (1 move)
Black ptays White dies.

PROBLEM 237 (1 mdpe) ™
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PROBLEM 238 (3.moves)
*.Black plays White dies.

e '-PROBL_EM'-;?&’.QZ( 1 move). -
- ,-B'_Iack plays. agftl_gi_‘liy :

PROBLEM 240 (3 moves)
Black plays White dies.

|

Black plays White dies. . - ;

— ' - S ! S .
SROBLEM 2473 moves):
Black plays and lﬁ(es., =
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PROBLEM 242 (1 move)

Black plays and lives.

. Blag

‘ R t |
- PROBLEM 243 (1. mave)
igép,_lays and lives,

e O

QOB
'PROBLEM 244.(3 maves)
Black piays White dies.

PRO&LEM 245 (1 move)

" Bla¢

I\. plays and lives.

‘ s . |‘_:‘; . _7]
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- PROBLEM. 246 (3 moves)
:Black.plays and lives.

ack plays White dies.
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PROBLEM 248 (3-moves) “SROBLEM 249 (3 moves}

Black plays.and lives. .. Black plays White dies..
1 - Gl Lo

" PROBLEM 254 (5 moves) ' -PROBLEM 255 (5 moves) -
Black plays: Whitedies. : Blackiplays and lves,:

Q& -
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“ PROBLEM 257 (5 moves)
: Black )rla}_'s White dies, .

PR"O"BL EM 25013 movesJ
Black plays-‘and lives..

-

PROBLEM 253 (3. move.%) ' EROBLEM 258(3 mbves} | PROBL%]VA 259.(3 moves)
- White plays BZacPdles. - ite di Black ys White d:es

PROBLEM 125203 moves) -
“Black plays;._H{h:te.dieS.z__-; g
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SECTION 2. KO
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"« PROBLEM 260 (1 move)
- White plays and lives.

PROBL
‘Black plays and lives:.

EM 261 {3 moves) . b A
:  PROBLEM 266 (3 moves) PROB
: Blc{ck plays and makes a ko.

R

. ";EM:'Z;S;? (4 moves)
ke plays and makes a ko.
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PROBLEN 263(3 7

" Black plays Wit g
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PROBLEM 26812 moves)
Black plays and-makes & Ko.

OBLEM 269 (2 moves)
e plays and makes a ko,

" PROBLEM 264 (3 mo
Y Black plays White dies.

_PROBLEM 265 (1 move}
" Black plays White dies::-

|
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' PROBLEM 270 {4 moves)
Elack plays and makes a ko.
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~ SECTION 4, CAPTURING|RAGES
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PROBLEM 278 (3 moves) PROBLEM 279 (3 moves) -

. PROBLEM272(3moves) - PROBLEM 2733 toves) .. [PROBLE
“" Black lives with a double ko. © ' Black playsand fives. -+ - . Black plays and wins, . Black plays and wins

gt A%,

PROBLEM 2803 moves) PROBLEM 281 (1 move)
.- ;\_\B.lac!f:";play._s’ and wins, ‘: lflafck. plays and wins.

“PROBLEM 2 moves;
-, . Black plays.and lives. s

’ Ik PR 1 [ .5 ! -
. PROBLEM 274 (3 moves)
_-_'B?aclfc plays ‘andl_i_v_es.in, A
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' PROBLEM 282 (5 moves) PROBLEM 283 (5 moves)
* Black plays and wins. lack plays and wins.

'PROBLEM 277(3 moves)
' White.plays and lives.” . o
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PROBLEM 276 (3 moves)
Black plays and lives.
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PROBLEM 284 (2 moves)
Rlack plays and WIRS.

T

. PROBLEM 286
. Black plays gnd'wins.”

PROBLEM 288 (5 moves):
 Black plays and wins.

{7 mgvés_)f' e

" PROBLEM 287 (3,mov
— ays and wins.

PROBLEM 285 (3 moves)
‘. Block plays and wins. |

Black:pl
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Blaclc plays and win h'.‘ :

- PROBLEM 289 (3 moes)

PROBLEM 290 (3 moves)
" Black plays and wins.

RN

Black pl
N i

LM 291 {3 moves)
ays and wins,

: 2 i

 White plays and wins.

ROBLEM292{ 3 éiés) =
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- PROBLEM 293 (3 moves)

Black plays and wins.
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v '.'-INTERMEDIA TL PROBLEMS

LEVEL FOUR L
. ;LIFE AND DEATI—I PROBLEMS

Life and Death_ (
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" .FROBLEM 296 (3 moves)

'PROII}LEM“295 (1 move) -
 Black plays Whire dze.s'
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PROBLE M 297(3 moves)
Blaclc zflays White dies.
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7 i 294 (3 moves)”
Black Dlayﬁ;and lzves
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~Black pla}} White dies.

pROBL M] 299 {3 moves)

PROBLEM 298 (1 move)
Blac plays and lives.

I* Black plays and lives.
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i PROBLEM 301(3 moves)’.

H

" PROBLEM 300 (3 moves)
Black plays White dies.

i

" PROBLEM 303 (3 moves)’
- Black plays White dies.
Black hite gie

1 1 1

® { —li# 1_‘- ‘ o I .
© PROBLEM 302 (3 mmoves)
«1,. Black piavs White dies.

1 i

' PROBLEM 304 (3 moves)
| White plays and makes a.-ko.

60—
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-Black plays Witite djes.. JE

PROBLEM 305 (1 tove):
Black plays White dies. .

20
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'PROBLgM?OﬁiBmoves)
"_‘._E?B]?.Ck ?;C?J’S W_hire dies,

S S

PROBL

EM 307 (3 moves)

I»IVh jte:plays and lives.

PROBLEM 30813 moves)
: th'z‘egptays and lives.

|

159
T8

1

|

iR
o \:f-’ii
T

|

\

o -
Lon .
i

Blackplays and lives.

PROBLEM.310 (3 moves)

. 1‘
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PROBLEM 311 {3 moves)

?c_ plays White dies.
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OBI?M@I@(B’ moves) ' PROBLEM:319 (I'move)
Zack Zays thre dies. . White plays and lives,

PROBLEM 313 (1 [ move).
Black plays and lives,:. :
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- PROBLEM 320 (3 moves) - PRDBLEM 321Y3 moves)
L Bladfa plays and lives. . Bladk plays White dies. .

l

\l e o

PROBLEM 31 4 (5 moves) - PROBLEM 315 (5 mopesk .
Black plays White dies. - . Black ptays and lives..
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PROBLEM 52203 moves) PR BLEM 323 (1 move)
Black plays thte dies. T Black plays and lives.

PROBLEM 31611 move) o _PR@BL EM 31713 mbum)—‘
Black p!ays and lwes o ,,_‘_:: ' thte pfays mzd lzvles., :
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 PRQBLEM 324 (3 ‘moves)

White plays Black dies. . -

{PROB! v
. Black plays White:dies.

B
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EM-??S (3 ﬁioves ‘
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- PROBLEM 326 (3 moves)
- Black plays White dies.

!
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Rlack plays White dies.

PROBLEM 328 (3 moves)
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_PROBLEM 327 (3.??”10})&?.3) L

Black plays and lives.|
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- pROBLEM 329 (3 moves)
Rlack plays White dids.
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~ PROBLEM 331 (1 move)

White plays and lives.
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Black pE!ayS White dies.
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PROBLEM 333 (3 moves)

Blac%'k plays White dies.
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© . PROBLEM 334 (3m
Black plays and lives.
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Bldckiplays and lives.
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bROBLEM 336 (3.moves)
* i White plays Black dies..

o bk : - A
ST LI ] 1 T
0 E PROBLIEM 342(1 move/. . PROBLEM.343-(3.moves}™
fi
3

i} PROBLEM 337 (Imqive |
- ;E}/hité'j‘ﬁiys and lives. iBIa|é_k plays White-dies. '
i Cy e
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' PROBLEM 339:(3 mbv
- Black plays and lives: <o ; L B
T T T . = - . ] . .

PROBLEM 338 (3 méve.'s‘)_:.
Black plays White dies.

] -
PROBLEM 345 (3 moves)
ack plays White dies.

PROBLEM 340 (3 moves) PROBLEM 341 (1 move).
Black plays White dies. _ ' i'BZaclc'playS.:unci_ lives:

AT . I .
- PROBLEM 346 (3 moves) PROBLEM 347 (3 moves)
“White plays Black dies. e %Vhfite plays Black dies.
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PROBLEM 354 (3 moves) . .PROBLEM 355 (3 mov_es)

1 P
N

PROBLEM 348 (1 move)
Black plays and lives.

PROBLEM 349 (5mobes). .
Black plays White dits. 7

B'Iackjoé?jzsﬁWkite dies. Bldck| plays White dies.

R .ltf 1 ) l

-« 'PROBLEM '350-(3 moves) . PROBLEM 3.511:_!1_1119-‘.!26) L
Black plays Wh‘i‘refdiesi B -_-B.l-“__"k‘_l?’_‘?‘_’ys arf'a_?‘l_iv s S
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- PROBLEM 356 (3 moves) PROBLEM 357 {3 moves)
: ¢ ;}ays' and lives. - ;eri_t%_p_lays Black dies.

i

.
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PROBLEM 352 (3moves) . PROBLEM 353(3 moves) -
White plays and lives. ' Black plays White 'flles.-

_ . |
BLEM 359 (3 moves)
‘ lla&;'k plays and lives.

oot O I I 1 [
" PROBLEM 358(3 moves) PR
~White plays and lives:
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PROBL M 366 {3 moves) > :PRO}?LEM 367(1 move)
[f’e’ac{nE Jays White dies. hite plays Black dies,
o ol . )

l K

i

PROBLEM 360 {3 moves) , -PROBLEM 361 {1 move’ -
 Black plays White dzes i Black plays and lti}es

=

| .

. PROBLEM 368 (3 moves) PR@BLEM 369 (3 moves)
f_Black';;?Iays and lives. LTlaz_:lc plays and lives.

NN 1 S O T
PROBLEM 362 (3 moves) ~ FROBLEM 363(3 mioves):
Black plays White dies. . - White plays Biack d.IGS‘-‘

: 89C- :
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PRCBLEM 370 (1 move) PROBL.EM 371 (3 moves)

)BLEM 364.{ : | 365i(3 movesi' RCBLE
 PROBLEM 364 (3 moves) PROBLEM 365(3 no e o | RBLEM 371 (3 move

Black plays White dies.. L Black plays and lwes o
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PROBLEM 372 (3 moves) | PROBLEM 373 (3moves) .. - by PROBLEM,378 (3 moves) . PROBIEM 379 (3 moves)
-, Black plays White dies. i White plays and%?“’es- ' RO Wf?ite-'p.%?}.’ s Black dies. " White plays and lives.
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. PROBLEM 380 (3 moves) PROBLEM 381 (3 moves)
‘Black g;ays and lives. Bl[fc!q plays White dies.
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sPROBLEM 374 (3 moves) PROBLEM 375 (3 moves)-

White pluys and lives. ‘ White plays Black dfe‘is.

il B e

1

PROBLEM 382 (3 moves) PROBLEM 383 (3 moves)
'Blac{c. plays and lives. _ a‘laqk plays and lives.

_73~-1lﬁf

e TR A I Y

R




5 e

EEEEE

.

Biuck plays and lives.

&0

" Black plays Whi tef?ies.

: P}?OBLE}E'/I.'.?I% (3 moves) ':.
White plays Black dies..

i | i
-~ PROBLEM

PROBLEM 384.(3 moves) PROBLEM 385 (3 moves)

“PROBLEM 387 (3 moves). - |
- Black plays ‘Wkire:"dies.f_-‘ R
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RO iLEJV}i_3;Q0_(3 moves)
Black plﬁf

5 vand lives.
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"PROBL
Black

EM 391 (3 moves)©
! __

lays and lives.
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192 (3 moves

- Black plays White dies.

PROB
Whi

o by

EA(I 393 (1 move)
te plays and lives..

@

F7y

o0
! @

2

{
l
|
E

“PROBLEM 394 (3 moves)

!

PROBLEM 395 (3 moves)

1 et

389( Lmo ve)
Rldek plays andiives.

PROBLEM 388 (5 mo ves)

[ [ li Whitd plays and lives.
 Black plays and lives. !

2 Black plays White dies.

e B B
| : , — 75 |
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“\ PROBLEM 397 (5mov

= \ ‘ -"_.v.‘ o . [
 PROBLEM 398 (3 moves)
Black plays and lives. i

PROBLEM 399/(1 mave)

| 1

PR OBLEM 400(3 moves)
Black plays and lives..

_ 76—

- G e ICA -PROBLE';}'-&MMGmoves)
‘Black plays ard: lives. . < _

B O

PROBLEM 401 (2 moves)
Black plays and.jnakes ko.

PROBILEM 403 (3 moves).
| B{gcrk plqys and lives.

4ty
3t -
A

L

& 85%

- .I;Whiﬁbg;iélays and lives.

PROBLEM 405 (3 moves)
. K hirq'plays and lives,

i
T
1

i | |

1

AT R
PROBLEM 406 (3 moves}
White plays and lives,

I
& it
l'T
|

4 AT \
PROBLEM 407 (3 moves)
‘_ Irl{hfge plays Black dies.




PROBLEM 409 (3 taoves)
Blaii-k'plays_,Whifé%ﬁﬁ- e

S

1%‘4414 (I move) . « PR
ciBlays and lives. - : Wi

PROBLEM 4083 moves) -
" Black plays and Tives. ‘

DYNEE

o

e
i
A
£
|
R
¢
[

1 ;I] \ 1 .
‘a " S : : |
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Guf 1N wtutudil 1 L
OBLEM 416 (3 moves) PR@BFEM 417 (3 moves)

v PR )
RBlack| plays White dies.
R B | EE T

e S B
PROBEEM410(3
Black plays White.dies. .-

|
. L

L% RSP e
5 PROBLEM#II(STJ%OW ). -
) White plays and Tives. hite plays and lives.

moves)

{
{
\

: &
! |

:\'1]'1‘1 —

, - |
PROBLEM 419 (3 moves)
. Bl]ac'fc plays White dies.

| ! | .

——

’ - [ T A ' 1
.. PROBLEM 4181(3 moves)
Black-plays and lives.

 PROBLEM 413(3 mo\fes) .
Black plays and, ;ivef.- o

PROB;L_EM#IZ_(_? moves) .
* Black plays White dies..

i

1
1




"PART TWO

AMNSWERS

* PROBLEM 420 (3 moves)

_}Sjla'ck plays.an

. *Black plays White die

— 80 =




FaRETEIAE v

: VU
B o prOBLEM2 - i

Correm Answer 2 ; ;
Black | “saves his two stones by ex- .. 11'~ BlacK blocks a‘trl Wmt_e caiches

tendmg to'1. If. White A, Blackc bloclcs . two blacK stones when he ‘taris“zit'-" 2.
catB ané Blaclc cannot be c : TR _

B :
%.CorrectAnswer
ckliptaces a stone at 1,.Black

B

If Bl

b

wins the' b:laptunng race by one move.

If Whlte'Z 13, Black 3 at 2.

PROBLEM 5

. N - N
e L PROBLEM4 |» |
BT ‘ )

¢ 7 ) | ..

- ' r , % E j’} ":.z-

- Ll s

A JF@ N o

B - PRS0 ,

Correct/inswer R . Wrong Answer |- - %1 o 1 | : e !
Pressing from the outside with 1 '-‘i_' E}:tendmg to I n sla:k‘,- W,_l‘_iite T : hCorrect Answer L é
and 3 is severe. White 18 conﬁned to iexpands along the si¢ E with 2 atid 4. .. Descea:l%lng to-1, followed by 3,. @ Ci :
the s1de anci must piay 4 to iwe. “‘Thxs 13 a failure for Bl _k '.-:-‘ catthes t e white stones in the cor- link
H 1 ' ner: R i ohes

|
| ‘ ‘

' Wrong Answer

p shmg through with 1 only nelp
Wh1 to lini up his stones, The fou
blacg( st‘.oneq on the left are now dead.

|

mg ta capture two.stones with 2. When

crude, After:the sequence 10 4, Whate 5
‘White defends, Black extends to 3,

‘Biack 2, White “captures two stones:.
' ‘ four stones are lost.

~ with 3, 1 Black 2 at 3, White 3 at 2.
| -~

83— 1‘

o . PROBLEM 6
Lo .
B L—‘ Ol ] t T
e - :
L1 HEn
h -.’"orrectAnSIWer. - = W?‘Oﬁ‘tgAqur B - Correct Answer E Wrong Answer .
Whité'éa; escape if he: atarss at 1.1 Duectly playmg atap with _1. 18 .. First of all, Black piays 1, threaten- ﬂ” Black 1, Black’s stones are in

p),n(ih zi\fter White 2. If Black 2, Wh
pla}{s L, capturing two black stones,

]
l
|
N
l



CorrcctAmerr : _
Black- 1 sets up & throw-in at.3
which captures two stones. If White:

Y
"“lalowmg in first at 1is prema

‘WrongAnswer ,,

d o

ture,
will o

Thxs isa blg loss for Blacx a "if.'

PROBLEM 10 | '/}

* PROBLEM 7 | f O,
3 E A &
DB L R
.| . ?l - @%@% & .L . ‘ r{>i . | ]
) ] e N e | _ : : -
‘ | R g i 7 L = A r & IR e
] ¥ i @@ &l B B WrongAnswar i 'WrongAnswerz
+'i \ - | If Black 1, WtheZ -aims at 3. Up to Black 1{is{the worst move, Whlte
-] n 6;:.the situation’1s either-seki-or ko. 2 and 4 killjthe black group.

2 at 3, Black cuts-at A, captunng two

be cipture

son i

wh]te. stones. the qght - _@
.PROBLEM g x')
B PR |
A E :"R%’ferénce Diagram
- _(:} s 153 Whlte attacks at-2, Black 3 gives

the black gr app m the corner two eyes,

‘ : | |
TIY838C LT L OO S ot X %c Aha
CorreatAnswer FERNR R L 4 / S R T4 s <N @Q A
Exchanging 1 for 2 lets Black atarl -~ Déscending - first to- 1;,lets Yhite - 63 - O
E - ataf at 27 The two blaci stores at” :
at 3 in sente. The white group on the atasi a _ blac: r\ s wrongAnswe;-z

the-cage will now be capLuIed IF Blick 1 Whlté Kills Black with 2 Black i

right "is now 1solated wath__c._mly..ox.le. sunreasonable When White

eye. %nd 4.1f Black A_next, White B. culs at 2, Black loses three stones.

PROBLEM ® " L PROBLEM 11

1
l .
. t
| |
— !
— TR
| |
E R
q B l N |
. T w ; . '.i: ! I . : i l‘_ ! 1 \ I1
i. CurrecrAnswer : Reference Diagrant l " Cor;e.;:'tl;Answer - . ngo g An
that “White ‘2 and 4 are thozoest 1Wh1te : - 7 n, swer
Black 1 15 tho shape’ MOVE b aBlack.l1sasurpr1smgmove.1f White Black il 1s|artless Up to 4, White

can do. Up to 5, Black gets alhvmg\: ¥

gives ‘Black’s group n the corner life.
: slu,pe in thecorner. - . 5

~2/Black 3; the white stones above die.
Next — e o :

links up to *m“stones on the outside.

84— — B85 —
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* PROBLEM 42

- T . -: J
g .
R o ¢ . t 4
. = N il : B , ) ! IR
s Correca‘Answer Reference Dzagram 1 N AR ERE T NN i
Cutting with Black: 1 is the correct “1f White ataris with 2, Black 3 .. Correct Answer Wrong Answer
' {f White connects at 1, hissix stones If White| 1, Black throws in a stone

will c.mture the two stones in atau.‘ -
at 2.‘After 4, White loses four stones. -

move.. White will now lose two stones.
| t thepdge-cannot be captured,

o . PROBLEM 16° ‘ ‘
i N A-E/‘B'.ié? -
‘- - Ny o
‘:—.: - ) ) "
i i BRTZ N !
Re fercnce Diagram 2" Wrong Answer ) L_l ‘ ‘ @ﬁ?ﬁ i
If ‘White atans” from ‘the outside Dlrectly gving atafi - to the - two! - x,orrectAnswer !WrongAnswer-
with 2, Black 3 agamn wﬂl capture Avhite stones without first cut.mg lcaas ‘ <. White 1f ansures that six black If Whlge ataris. with 1, Black 2
two white stonesi~ »,o faﬂure as this d1agramS shQws.- ‘ _‘Jistones wﬂl be ﬁl,apturea will bapLurh five wlme stones |
: . : g E gl ROBLEM 17

_:PROBLEM 13

i
i
N
i
s
|

WmngAnswer ‘
If Black connects at 1, Wiute gets

i"' recr Answer
Riack can get an advantageous ko

.WrongAnswer e
and 3 1ead 1o a.seki, How- -

Co rrecr Answer

- After Black: 1 White can’t give : étan B!ac}{: :
t 3,5White|pla 5 at B,

’to thie'two black stones, 50, seven, _h1t§ ever,d nglack 1; ;1 3,9Whi g p:..'y hE “by throwing in - stone at 1. o rod o ayagat 2.
ones can be captured. 7 : ' 1 and Black will be capture o RSt itiin 4 S PROBLEM - Yo
R ST .,-_'-‘PROBLEM 14 , > - - [

05 o ‘

T 1 . A

- ]

WrongAnswef
White |1 oniy threatens two unimn-
portant siones. Black connects with 2,

catchi l]g four white stones.

87— 1

Correct Answer
1f White atans with 1, Black’s five
stones can’t escape capture. If Blark
2, White 3.

ngrkeét.A_r'zswer _ WrongAuswer b
White ci Jink up his three stones  White 1 fails, After B1d¢k 2 and 4,

with 1. Wlute s stones cannot cscqpe atm

_.0_,(')-'_.




~PROBLEM 19,

—r :

, Wrong Answer::
lack. cannot link up with 1 ¢
White 4 enisures the separafion,

o
4%

Correct Answer
Black 1 ensures 4

hetween the two black grouns.

connection

i
b

PROBLEM 22

i

;
!
i
[
:
H
1

Correct Answer .
Black cuts at 1. If White atans:with

2, Black 3 setsup a snapback.

If Black. 1, White secutes his ton
| by-connecting at 2. R

 PROBLEM 21 .

."4 ]
¥ =Tk =
B S RETEE
' " Wrong Answer .1

. “Black 1 is the pott to attack. Up
" ¥io 3,44t s clear shat White's stones die. - 1I¢
- ' . PROBLEM?22

I Black captures with 1.1
il capturing race by one movey”

o

Correct Answer

Black ! 1s the vitat pont. If White 2,
Black 3. 1f White 2 at 3, Black 3 at 2.

" Wrong Answer
. If Black i, White will play
vital pomnt himself and live. ' l

—88 -

" thé four-white $t3[(1

S

% o s Correct:Answer

White "1 .and "3 allow White to
tiriic up alf his stones and live,

aptur

- Coﬁf _
:Black -1 i§'_tig‘c§ﬁxi‘tal‘poiht' toc
es.

a A
N

e

DEHEOOT
o TR N B R
Corr =t Answer

-

_'_|‘ v

ture White’s stones.

 $%_

w -_'. " Correct Answer
CisiAfter. White. /1, the thiee black
stones cannot escape.

PROBLEM 25 1~

stones.with Black 1 -

PROBLEM 26 ' -t ]

_go—

NBNG

sates et

B WﬁangAnswer
White 1 '
t@l -

—tnh B !

", Wrong Answer .
. Black 1

Black Has o

! ¥
o answer.. .

¢ 11and 3 capture two stones.
but 4 takes away White’s second eye.

PROBLEM 24

ﬁ ils. Against White 2,

g

LIRS T
i Reference Diagram

‘Black sgerifices another stone with
- A YT LI 1l
'3 and gives| the killing atasi with 5.

o

e
T i
Wrong Answer

Giving ’Jat?.n with 1 1s
move. Bladi gscapes with 2.

-
‘q

\

]
@

o~
[

crude



- Correct Answer
-White 1 saves his four stones on the
jeft. Now Black’s three stonesare dead.

Wrong Answer - : 7
15 White. 1, Black blocks with 2. Now

' Correct Answer
White 1 makes the linkup between

_ ) ol : tire teft ars dedd; 1
the two white groups. Whl{? s sto?es on th B R 36 !
B T ] N .t B N & .‘-. j
.L'f by : -J‘! :
' I ni‘,“ﬁ' - '!.

L@ v Corpedt Answer

: After White. § and. 3, all the black
é;t?)_nes at the e@gg will die. .
TN

@t !

i R
- Wrong Answeri= -}
V¥ White-atarss with 1, Black sptsup™.
a snapback with 2. White hias failed. -

' PROBLEM29

 Correct Answer _
There is no-way for Black- to’cap-
cure.White after he plays h P

PR

¥ @i

= i Corregt Answer
Black.1-and 3 capture three white

stones and save Black’s at the top.

rongAnswe':;f S T
k1 White gets two eyEs with
ack nas failed,” "

-1(2 !

Correct Answer

. AR Wrong A er ' at" o
Black can kil the, white group with - _~_—With:oﬁt ‘the s_ac:r.'1i“r;ce_a;t Black wouid -
 throw-in at 1 “followed by 3.7 - " [gse his thiree stones on the nght....
i ! o e SRR

1 QBIacKé

_—9oéf

| S
: | PR S 11 Lt PROBLEM31. | I >
| R - )
I ' IR S ;
‘ i i |
{

PROBLEM 32

‘PROBLEM 33

PROBLEM 34

1 and.3 catch the five white

=91 — ﬂ

: f WﬁongAnswer
White 1| fails. Black will capture
four white §tones after playing 2.

Lo

]
I
1| :

Y S
vl

—

rr—%{:b" ;4 .’

1 | Wrong Answer. -
If Whi e, i1, Black will capture
eight white|stones with 2 and 4.

3

% .
=1 | - i
l 4 (ongAnswer
captures a stone with 1 and
s at the top will die.
|

|
5000

LI Blackll
3, his ston

|

|
0
&
@

(4x

(8
5 @ 7
‘ ‘ f
Wrong Answer .
Black 1jand 3 are thoughtless moves,
After 4, a]]% White’s stones ate safe.

;
|
i
3




GHOG

. Correct Answer
" Black 1-saves his three sto
1eft by defending against orotoshi.

‘If Black ataris at
sseb upan oiotoshi. .

PROBLEM 36 .,

I\ | i

s to the.

: Correct Answer
 White 1 and 3 catch fou

r-of Black’s
‘ ;= any hlack stones. -

stones. . _
| PROBLEM 37

' ] ' ! B |
e -Correct Answer
_If Black plays at 1. he wil
_ three white stones.

1 cap_tui‘é

PROBLEM 38

. Correct Answer: . _
Black 1-and 3 are the only moves -

‘that will catch White’s stones.”

Wrong Answer -

R Wrong Answer | ..
White | .and 3 her

T Black L 1s W the

* Black fails to capturz any Stones.

" o Wfbngﬁnswqr .
: 16 Black pkays _:'Land
. not be captured afier Wh

£ White 2 &

T

re- faila‘ to capiure.,

1

3, White cars-
1 "

te 2:and 4

S T

S B CR

s Daateide b

sy g- E
v

)
EX-ER 00

]
1.1

o

) Correct Answer
- Black :and 3 set up a snapback,
s All of White’s stones will die.

T

'PROBLEM 39 |

.11-.-.;-':.‘1'.145::-':5:;‘\1\;:1:;_.‘/_;%:;: T

By
5

 Black [sd
atarfs.at 3: Y
A

i -
Lorrect Answer -

IETBET |

sdcrifices a stone and then

\'V

hite cannot escape.

(M

- it e
2 - %
N Ui N N .
3B 0 T

Sorrect Answer

©If Black

_ qnakes an eye with 1 and 3,
~he'can evenilally capture two stones.

R ERNPYIN!
- i ':g.{
o ,

Correct Answer

S M B I S N I
. " White1'is  the only move that will
> save-his endangered stones.

B
-up after White 2,

& If
follow

3

EEE

7| I

H |
" Wrong Answer
lack -ataris at 1, he

PROBLEM 40 | ==

If

1 Wrong Answer

ldck simply ataris at 1, Black

has nd fallow-up after White 2.

PROBLEM 41

\

If

PROBLEM 42

1
“back.

. |'i Wrong Answer
lack ataris with 1, he will lose B

“his fi\]ﬁ} tones at the top after White 2.

—- ) 1
["i‘r N A R A SR A
. Wrong Answer

‘gh;ta 1, Black 2 sets up a snap-

1a*|ck 2 is the vital point.

a




N PROBLEM 47 |
- ' . . P
; i & E’ L}
i- 54 - T
B2 3 T e -
_ Correct Answer TWrong ANSWer - e S . The .i/.
It Black sacrifices. @ stone with 1, . i Black simply’ ataris with 2 hei - ' - e 0
White can't escape capture after 3, loss the capturing race by:one nove. . J_Q_Correcr Answer - . _ Jég;v;'fc;renceD‘ %
‘ S R S o 7 Peeping at 1 15 a bad move. The Jt 1sipracti  Diagran 78: o
- - PROBLEM rrfi o yeasons ﬂI“e‘L given in the next tiiagrﬁms to ft 1 D_mctlcglly 1mgossﬂ:~le for Black
By - 0 N ) [ i o live.If !‘_‘" tries, White g2(S thickness
Correct AnSwer - ‘ e o ﬁ T +OT ! ".\
If Black starts the attack from the If Black piays ! and 3 from below, - Aft | :fe,g;ie_rcnce Diagram 2 BRE wference Diagram 13
side, he will capture Whites oo he 1oses his fiye stones atthe top. .. .. - g R - er ir%?’fn& the best endgame 5 iwimom the peep, Rlack has more
. ! i o = - ‘ - moyes are Black 1 and 3, . grofitablé endgame Moves up 05, -
r . pROBLEMAS h ol
- = 1 PROBLEM 48 l 1 _
'_ A -
B i -' l ) o £ o
et S o
T : REES N ewer Lo #
7 correct AnsweT : T Wrong Answer - oo and )
e R . 97hi i ‘ ite | “the ek Lt i
white 1 is the -vital point. tht._ o if Wk:l*ﬁ‘ C;L bnecr;,e :.z::: éléses. e orrect Answer ; "iRi;"ﬁz e Didg — .
wins the captufing cace by one move: ~gapturtie F y T ' at 118 8 pad move. The TT thickness White gots if Black
E - s «1 diagrams. tries do live 18 100 good.
PROBLEM 46 L
- , .\
: 1699
. — ';Référeftcf‘ei'DfEér‘an1 2 | Reference Diagram 3
: __‘Correct.AﬂSWEF ‘ £ fn x connects at ; Without the PeePs Black would be 1tiis ‘iimpossib_le for White 10 pr_evc;
| plack has to DY { if his sto0S at = If Blas® o o sble to link up 10 nis stones on the ieft. this linkage, as the sequence to 5 sho%
’ mng o live .+ catches pight plack stones. o ) : i ’ ,,
) ! o - ) . .
: - ' 95— \ .
N

the bottom:are &0




Correct Answer
that Black would like to play,

18

Problem’ Diagram)

‘Black 1 creates
‘white groups: the four
at the top and the eleven
“in the center. '

stones

Wrong Answers.

‘Black 1 13 2 big
worth
Black 2
would like to piay’

" -as soon as -po

the wrong dircctios.
- these moves,
‘mnatches the severity ©

gram..

There. are a lot of places-

put Black 1 here (D in the |
the -

‘best point, The. reasont 1s that’ -
two_ weak [

move, -
more than ten pomnts. :

1s also big and Black
there

ssible. Black 37

is not bag either, but it is M
None of
nowever, -
f Black

i in the Correct Answer dia- -

|2
A
3.
F

2

ey

PRGBLEM 50 ||

LINICRE N A o -_'-14:.

S fed I8 f‘j’l—‘?_'-'b?‘f‘é? nove, The sequence to
: ;BIacK? 154
s¥ahe teft is npw|an ideal extension from

+ ‘Build-a- fi',l,l“dnf'the side that you -
‘have a;ston En or near the star-pont.’
- _{The moves Biick 13 and 5 follow this

- cpnnciple, S

SR S I T I I
S B O R

played in aimost all cases. After White
2 Black ‘nag,the choice of playing at

“either' A or. Bl

N

Ty

\lr
Fay

i)

17

—] it

€

st B s » 3 i

EHL L ey
Iﬁgc joseki.- The stone to
;t;o'n on. the Tight.

PROBLEM 5

§

CHrrEct Answer

Cprrect Answer
I - this, position, blocking-at-1 18

PROBLEM 52

Territo
loss.

~97—

TN Lkt e
.\ Carrect Answer. i
: Be;g‘quse‘ pg_:s"ﬂ;_e “black stone under if Ble'éi:{
he star-poi tgi}q__ the left. blocking at withy 1 aa.
. the Star-ﬁb

| Wrong Answer
blocks from'the other side
here, the black stone under
ojnt 1s out of place after the
continuation to 4, - ) ¥

1"__‘

B

.*_( o L
- L
N

Wrong Answer

If Black makes a wall in the other

directlob‘; éthe stone ‘under the star-
point 1s but of place after White 8.

1= 1 Wrong Answer
Blloc'
White fo link up his stoncs with 2.

rally, Black has suffered 2 big

|

B
WE‘ T l‘"‘\
A+ Jn
mRILZuN
T
REEEEEE-

ing 'at 1 makes it easy for




- Correct AHSWEF

: Capping - the -four  white

o stongs- with Black 1 is:the
. most important move on the

© % poard. It 15 mpossible to esti-

mate - how.: profitable this

S e TNOVELS, . . T

oo -
o T - . v
‘ ng‘ecrzinswer  Reference Diagram!

“When confronted with & double- Attaching at I on the side that you
approach move, always attach against ' ihave  apincer (the black st(!;ne'un'rju:
the stone which is not attacked by 2 . ‘ithe star-point) 15 8 stritegy - for speéial -

pincer. Black:1 follows this principie. Ysituations, © S S o

' _PROBLEM 54

BIE

B Reference Diagram:. i
Défending the corper with Blucle

. ! C&frcct'/ln'swarvq '
gt into the center. with

= Wd; gﬁnswér
No ong tan say that Black

“Jumping o
Black 112 standard move in handicap = 18 another move that can be considered, -
games. o o . put Black I at A.isbad sﬁgape._'_lfbe:e o " 1A badh{x‘”‘ve‘,but attacking
' -:.are other moves, put. Black 1'in, the - the ‘four white stoncs on the
correct answeris superior tolall of them. right as in ;\é Correct Answer
S o s far more profitable.
|

. _ Wrbﬁg,é_“;_i_swe i
. Black 1 15 a cowardly m

ove. White -
the] center: with o
thle corner are . -

Correct ANSWeT

Confintng White t© the side with- .

.- Black 1 s the best MOVE. Even if-you - - casily moves out nto
fail to kil White, you cannot. get a2 and Black’s stones 1

- bad result. L overconcentrated.

LY .-

' *93 -
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SEENHER
Correct Answer Re f erence Diagram - :
3

After White captures at .2, Black
returns to-capture two white stt)nes

ot Answer LT T WrongAnswer ’Z;*
‘Black 'sets up & ‘bent fourn, the Tf Black ‘atarts, with~1, White cone:==
corner’ up to S. White 15 dead. nects with 2. White cannol: be killed

“'PROBLEM 39

Black I catches one stone below and
sets up the ‘under the stones’ tesuji.

_ PROBLEM 58
SEOR(

u

l\, b

7 ‘connects; 9: betow 5.|.
. ' Reference Diggeam ..}
~IThe sequence to 8 leaves W ite thh
a, agead 6»space blg eye 9 kllls W}lute.

. Correct Answer,
Black 1 and 3 are the vital pomnts. If
Wmte 2 at 3, Black 3 at 2, making two’
eyes. At"ter White captures with 4 — e
PROBLEM 30

Correct answer Reference D:agram .

Black 1 is the vital point, If W}ute
2, “Black 3. Black lives pecause: of the

hvdoubleko L R .:}_
" '_%‘100-'—'=i'e e

takes at'A, Black mmply taKes qt B.

=T White makes a Ko threat thgl-

PROBLEM 61 -

G _ CorrecrAnswer : ' Con Pilf’rbrngnswer
o -~ Black'1 15 the vital point. If 2, Black 11* Bladk 1] White. piays the vital
_«3.1(1113 White. W_l__131‘te gets only one eye. point and asily gets two eyes.

PROBLEM 62

' 2 Cor ;ctAnswer
|the ‘comb formation’,
§hdpe If 2, Black 3.

i

L Wrong Answer
If Black 1{"White can get a ko with
the atari _or?. S -

L.
B - PROBLEM 63
- ‘, | |
. ..' o
rr ptAnswer _ ’WrongAnswer
akes two eycs. If Wh1te If Blacli 1 _White plays.on the vital
: point of 2 Fmd Black die

PROBLEM 64

i

i

\h
i

k
[
K
!
-

- ()
l: WrongAnswer«

If Black: ﬁsmlply plays i, White
lives by pldymg 2 and 4.

s CorrectAnswer
Blacic 1 is the vital pomt No matter
\ow Wh,te plays;he can’t get two eyes.

- 101~
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1
5
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TROBLEM 65 - o

WrongAnswer ' ¥

*Correct Answei

Black 11s the vital point-for mak— '

“ing eye shape With 1 Blac}’ easily 11ves group

" Wrong Answer - .
If- Blch descends to 1, White piays

' Cipce White's gIoup has an ’eye

Blaux 1ose~. the captiring race i

. C‘orrect Amwer
Black ¢ and 3 are the night order of

moves: ‘ANfter 6. 1t 15 Black’s turn to.

taife tie ko.
T - PROBLEMSGT.

Wrong A nswer

(24
Correct Answer
Black 1. is-the yital point.
cannot capture 3 so he js dead.

White ‘
b 2 znd 4

PROBLEM 68

L,orrect Answer i
Black 1 1. the vital point for’ gettmg

a ko, White 2 is.on¢ of two vanatmns. : na.;ult is agam a ko.

1f Black -1y White 2 kills the bluck SR

1f Biack 1, White- lives; by P a_y_i.pg.

PROBLEM 69

:,‘.": 1T R
CorrecrAnswer

"+ Black. 1+ is-the vita pomt If White

2 Rlack' 3 and Wkutc dies. -

11
i

: '7 . ] .
: CorrgctAnswer

Btaclc 1:ds tnq wtal point, If 2, Black

371 White 2 at 3 hB}acK 3at2.

i

K

" . l

ho
N
it

. Con'eét'AnSWer

[ Blacl( plays“}"and 3. Because of

_rtage of hbe{tles White cannot
attack the two black stones, so he dies, -

o

Blacl{ 1 forces White 2. Black can
RO get two eyes with 3 anct 5..

' /v’rong A nswer
If Black ,%Wlute lives by playing
at 2. . L
PROBLEM 70 T
H :
T
1 (L
| ‘erongAnswer
Black: i 15 fefuted by White 2, the
vitai point. I?lagl{ dies. .
. o i
PROBLEM 71 ', kl' RN
DOG- -
% i
2I )
<92 :
! Wrar':gAnswer e

PROBLEM 72

RS RN O A
e @
2_

I: b 4

CorrectAnswer

- 103 —

l 1
I

b
I
I’

Black 1, followed by 3, fails, After
4 White has no trouble making life.

ﬂﬂ

—|._

e
\'ﬁ'--: .
: [
‘ N 1
l IS

i

'u oP

|Wr‘ongAnswer

If Black atalns at 1, White takes the
v1tal pomt f 2 and Black dies.

|
|
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. PRUBLEM 77,
st - T
. -] A oy %;
prOam e O+
O i ¥ A .
. | ] EEE S
Do : A O : f i e
" Wrong Answer. ‘ R Com:ctAnswer : IfWute Plays Fm,
. Biac}c i 15 the vital pomt for attack If Black 1, White ‘catehes | these, ¥ Black 1 15 among tne blggest end- If it vlzer; White’s - turn, this is where .
' (FWhite 2, Black 3 kills White, -~ two stones and gots IWO €YES. S "game moves. * 1T | he would Phy
o e S LT e ieno o, PROBLEMTS .
. 7 " PROBLEM 74 TS - MRS o o " - Hr
S l Lt . AL ! R0 s S IPN gg»;-—gw . TR T @*@n
! SRR T *l BE0) "'ﬁE O 1O Aai Q-
D o I A : e 1= ‘3 H
: 7 S P S et -7 : - +[— ~ N A ISR o . i CorrectAnswer _ ReferenceDzagmm
" Correct Answer’ T W ong AnswerWh_ e . Whité 1 followed By 3.and 5, Actua!ly|Wh1te1and3 are more pro-
ldck 1 15 the vital pomt for gettmg At Blac!_c atars with1, _1‘5« p _ay“"-_ g ey sente and the best endgame sequence . fitable, but this sequence ends in gote,
: : 2. followed by 4, and Black dies, - : G I
tWO eyes. : : oo | % : [‘ PROBLEM 79
. ‘ i CE M' o ! [
N : 'PROBLEM 75 i RS T (j}JJ\
LA . : P [ ) ) . - \‘J B l S/
i M |
e e ; __%}
- Answer o i %@ &
COF?‘ECf Answer e B]ﬂck pg:zsf w1th 1, he'lis dedd : CorrecrAnswer !R ferenceD;agmm
-Black 1 and 3 are the vital pOintS W te iays 2. L Black L3 best After'White 2, Black White|2 is unreasonable. Black will
The resuIt is a seki. : al ter - p ¥ capture three white stones with 3.
g TS
N S
e
T 2
HET
[ T @ Y@
) Wrong Answer 1 . WrongAnswer 2
- - Black 1 is crude. In the sequence Black 11 has the same value as the
Correct Answer Wrong Answer 1d o as -t Black ends in gote. correct & va.reL but A becomes sente
Black 1 sets up an olotoshi. Black A B'MCK plays at 1 :he 15dea : - for White, " |
‘joses two stones, but e still hves I }“‘ stands. ' --i i I
Lo I R S 105 — .
—104-7 - - i ‘ - \ l
b o




PR ELrou-
FIidiskdla G4

: S T .. . Correct Answer : ‘F'VrongAnSWef

xon",' P ¥ Black. 1 s the. | ‘ .
... ... Black-*1's the-correct answer. Even If Black| 1, White can play 2 and 4 in.

.

x0T Correct Answer o . “Conitinu : B

“yWhite 1 prevents ~Black from linking Alter. White - 1, .the sequence will b wrs S the- correct 2

g the left. . contiqué up;td Black 4. t S L6 1T _-thte guts_;ia_t_z'-,"]}}ack need not worry.  sente, This i1s dl 4.point loss for Black.
L - S ) '.: B - . . had ""'. ) L Lo | | ‘= - . * B .

up with his lone stane on .
1 . | X . _ PROBLEM 83 N
. i N 1 " éaz
1 v s ]
: _ o _C; 4 B0+
‘§ - ! BN (3 I
H AT
T ; | i e
! o 1

X . .: o ) r ’ , . i | .
-+ Reference Diagran : ¥ | - Correct Answer RL ) i '
o : . T ARl L PRS- - ‘ eference Diagram I
Black .2 18 unreasonable. White 3 White .1--1e'gs Blaclc‘ linkup hig stones, g1 Black ‘1 causes a huge reduction in Resistink with 2 1s ﬁ; easonable, 25
catehes three black stones. This1s a big loss 10 territory. for White, - g - White’s tersitory. {he sequende fo Black 7 shows ’
Sl e o T iy | &8 @@ .
e T 3BOGE . i N Rae
SRR . B2 3 ___4@ L

" ‘Wrong Answer i

. _PROBLEM §7-

‘* SRR | | SN !
. i.:Reference Diagram 2 \ Wrong Answer

White must; prudently’ piay 2. How- OIdinan/ ¢ndgame moves up to Black
":g?,fj'r,‘ Black has made a big mvasion. 5 allow White 1o keep his territory intact.

1&@.

- rong dnswer:
1% Black- b, White can pixy 2°

Bidck: i 1s the correct answer. The

ons are given n-the next dia rams. serife. T : o ‘
reasons . genin agrams. e X SR | PROBLEM 84

; ' : i L -
T ‘. :t' S % % ‘x?'.-, ‘ T A_{
i . 2 L

‘ T Corréé_r Answer 1 WroargAnswer
. A clamp with Black 1.1s again the NeitherlBléck i nor A is a very big
. _%}g{u Way 1o mvade White's territory. endgame mjove, White replies with 2.

i _ . |

! LR - .. X
Reference Diagram i P ‘Reference Diggrum 2 '
In the correct answel, White 1and 3 *{Using, this diagram for -mmlys;g,.Blaci(

" MR _hasg.7 points, whereas in the Wrong

end v gote for White. S oifts, Whereas | Wron!
Lo o . ‘ Answer Diagram he nas oifly 5 points.: ..
| Ca - o —107 - E E‘




|

4. CorrectAuswer

":_B'ecaus,e‘. of shortage. of, liberties, tak- '
. ing with 2 is the only move, Afte‘;'r 3 _

;‘ " " " - .
.Throwing in 2 stope with. White.1 15
the.correct answer. Next - -

OeRed
WY 4

"I'either 2o0r3.;

A

T : Corifec'éAnsibcr |
", 7 Black I'sots up a double threat, He
. ¢an capture two.stones. by playing at

I

PROBLEM 88

- -to' 3. Black can now take the white
~ “stone in the cotner.

—109 —

&

.

JAfter Wh

Black E.'is

j.' Wrong Answer
is the wrong order of moves.
te 12, Black has no follow-up.

shape in

]
|

he‘i COXRET,

i

!
i
i

¥ <Continuation2 - oo~ Wrongdnswer . o o ;
' To avoid an unfavorablé ko, Black - 1€ White exchanges 1:107 _2_, Black's: - ‘
must defend with 4and 6, - tapritory; here 1S at least 3 poir{ts mOTe, . L eaee-
v “Hian in the preceding diagram, - - N
e ' S ™ —-( |} {6
: . PROBLEMS6 AN 8@
L CorrectAnswef - o '5{,-.§W(m?gAnsw.er _
ek L and 3, followed by S are Black il is the wrong order of moves. . |
thé best endgame moves. Black retains : ca After Wh;:tei 2, no matter how Black
senite after White connects Witli 6. playing at either 2 or 3.7 piays, he cannot capture any stones.
ST | PROBLEM 89 . | |
L
':' I . o Al
| Hodeeo- i
2 . @(2 %“— T A
@@ DD 1 ;
; Wrong Answer . L O O . -
 Black also retains sente with this L@ ‘OQ\%}* . I
sequence, but it is tWo PO better SR AERE M |
f(‘)I‘WhitC. ' o . r T
, anSEuREIGIES iR
- .. Carrect Answer © |- \Wrong Answer
Black plays 1'and then squeezes up’ If Blatk {1, White connects at 2 and

Black iq;es' poth territory and eye
|




ﬁ-f?RO_iil;E 90 - PROULEN ¥3 -
‘ Berd  iTegse
i ) 3
i By — l ]
B )9%’%@@ | :
j AEEAd i
a 1 1 . AR _ T
7 Duaas _ - 4 e - Correct Answer . ‘ | Wrong Answer E
ot Answer. - Wrong Answer Lo .~ White 1, followed by 3 and 35, 18 1f White 3, Black exchanges 4 for 5,
. . Correct An _ AR : Jink up his p L TETE YRR ] : g ,
If Whitg cuts at'1, he succeeds in . - 1f; White _},‘_Black cari‘ 14 }? : . . the right order of moves. feaving %1 clitting point at A for later,
e X jence to'd, | LA ‘
splitting Black in tWo Up to 1. stores with tpﬁ% sequt’.,rllc AT L E PROBLEM 94 l I '
o PROBLEM 9% " L S é;%e i Iﬁl\?in ,
S 3 ST ' ', 3
| (I B @éé?g ¢
e Il T 1 i -
gl % 1 - K - I I 1§
EEES . } i ‘ Correct Answer : 1 Wrong Answer
i White takes care, of his stones witl. I{ White connects at 1, Black divides

- . Wrong Answer -

) ._qu;e;:f;tr;s»;e% ok o i Blage 1, White gains erritbry at 1an d3 and gets good shape. White iristoi two weak groups.

By squeerilg Up & - BES A RS AR S : ‘ D oo

strong wall ont the outside. AL tne top:. . e I 4 6.@_.,. : | PROBLEM 9.5 ak : L ;

| HOSBEETE TORSLG -
OO elOrOT
R . ) | . o |
i ' T T ' e I T S T A O A
5 ‘ .CorreetAnswer ﬁ ! Wrong Answer .
| - Black can capture. the three white Black I'and 3 fail. White ataris with

C 'e t Answer Confinudtion &: connects _stones up to 7. White ¢annot escape. 4%nd tlpe three black stones die.
- orrec . U , o - ‘ : e
'First of all, White mereases the sacrl- = V‘;The 5 ue:ez_e ccixsgﬁl;cs up to 8. . - E PRROBLEM 96 % |
N - . g 1 :_A_-r". . | i i 1 | . i
fice to two stonesand slarts to §qu§eze. r\ﬁtEI 9,31'»10“51 Rt ; |‘ - , ll - i 1{ L # ;
2 5 f 2 ) 2 1= & 4
1 ] - e
| : @ é i _ _ Y1) s
AN PSS
R ‘ .. Correct Arswer | Wrong Answer
‘ Because White can’t make eyes e Black 1 lets White connect at the

- Wrong Answer:Z | =
' An atari from the left with{ Whitq_‘l
precedifg diagram. . o

vital p(‘gin't of 2. Black 3 takes away

ge128 10 jump to.2 when Black plays 1.
the secand.eye, but White escape with4,

" Wrong Answer 1
. Next.3 cuts off {ive white stones.

if White, 1 immediately, Black cap-

tures with 2 and Rlack’s stonesare safe. ‘4 similar to the

. ; |
5 . —til—
| . .

110~




Tf T |'! et
-Correct A nswer
Black increases the sacrifice to two

stones and then squeezes with 3and 5.

:4 T T
et Otk
(N
T RS

LT
ST B
_l‘ 1. .
‘—-}'_T.!\II.I"‘I.,-

Wrong Answer 1

stones, he can’t keep .,
escapes with 4. '
. .

Correc r A nswer X
Black | catches the . lone whlte

stone If Whlte 2, BlacK descends to 3

Wrong.Answer 1
If Black connects at L, he 18 dead
after White 2 2 and 4. 1f BLu i A, White B.

takes 4he texritory at the {op::

1f Black doesnt: -sactifice two;,"-‘

nte 50 Whlte"" -and 3, but tne corner is open to an-

PROBLEM9S: . .

—112- l\
b

T
. Continuation
Biack 7 scals White 1, and Black 9

T

T

‘W-; !

TT . l_. T
Wrong AnsWerZ;’ o
.Bidck could take the side’ w1t}1 i

invaston,. SRR

Reference Dzagram B
If. White. piays 2, he Just loses two
stonés after B_l_a_@i_c 3. .

‘Wrong Answer 2 !
black -toses fwo stones Bladk has -

suf‘pred a big 1oss.

B % o |
- EATeRREe T

WEr 1.

_.__tesup for"

If- Whitc 2 thé sequence to

\D“"{}“—

Black 7 follows. ;

BlacK 1 15 the same kind of tesuji.

ok LK lmKs up w1j:h the sequence to 3,

|

L

SO OO T

Wrong Ai nswer _1

o~ Black 1 fails. The sequence to
" Wiiite 6 vesulis in-a Ko,

w113~

L/
@ O
€8~ °
LA N
PROBLEM100 | | -
Lt
o OO0
13 6 )_ i
e @% 295
[T®e8 T FTeerT
B CarrectAnswer 1 c"orrecr Answer 2

T

If White blpchs from the other side
with 2, Bla&( 3 and 5 safely link up.-
- 1

N
@
&6 &
DO
‘t i F HEN
o %erngAnswerZ
Black 1 ps :‘? terrible move, With the
sequence 1 4,!3 Black loses four stones.

i

T
T
P L
i

-

B a2 % T o e St 3]




 PROBLEM 103" |

Lo - ~Correct Answer '
- Black. ataris with 1 and L.
1% . captures ‘a’stone with 3. If
- S e ; i e Whjie_ 2_-;1_;-} A, Black ataris at
- : ReferenceDiaé!ﬂm- LIRS g 2 and the ‘three white stones 1 ‘
~1f White doesn’t: defgnd, 1;’:1ac1< T B I. iathe coingt die, ' l 1‘
Whitd: - w | .

Correct Answer _
t Black’s stones .
forces White 2. a3d 3 inflict a big joss o

| L - o - R i ity J:S‘.at‘-2_.,'lf Black |-
R AP S N “Tat:A;Wiite 2 and Black has —-t1--¢-

A\l

WrongAnswer g

- Black can link up his stonies with 1, . Bléélé;’i also_ends in gote F
but this move is nota tireat.to White: - -after White forces with:2. - A
' ‘PROBLEMF102 1\ o ¢ 4 -1 i

. Correct Answer ' -6 L
White should push through . ‘

with 1. After 5, Black’s shape [~
is in tattersi: '

-?..ff._.-‘AReferenc'e Diagran S
T 1f . White doesn’t -defend, Blagk 1
“and ¥ inflict 4 big loss-on W] ite. . 7o

. _COJ’?'(:‘CtAn.SIWQr-._;_. :“ . |
“Black I ensures that Black’s stones
forces White 2.

_ Wrong Answer
If White. connects at i, i |

Al ‘Blagk gets a2 strong position t

on' the right when he plays at
2. White has failed.

‘ Wrong Answer 1 _ Wrong Answer 2. .
Black.i"doesn*t‘threaten anything. - . Black 1-1s an overplay. Black: 1
White will play eisewhete. . i too thin to play $0 aggressvely.- S

114 |
T
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!
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PROBLEM 105
. T
| : i S R st A‘?}é' SRS, . A !
e " Correct Answer o Wrong Answer ! B - {f Bla cK ?;r??i‘énwerj _ e %W 4‘?3.:4.”3""3’
i Wedging 1n with I enables Black to Directly gving atari withl fails, 7+ L e plays 1. and 3, he catches. Black ‘1 herd-is insufficient. Up to
! ging S ' : P by : D three white stones at the to i S P
5., capture two stones with 3. : Black leses six stones after White 4. i SURES "R R op.. . 4, Black has captured only one stone.
" PROBLEM 106. sy BT .PROBLEM 110
: ._ . e : . ) ‘I . !’-,‘ 2 :., ~ . - — - i B l
. l - e -3 %’f “.i‘.'lr I‘_ $.F— :
: 1 i [ - .'_.'7' ] T . ! R !‘1—&5! ] tA| L " { { | | : l_
_ Correct Answer - R Wrong Answer = - BE .Correct ..)T.!swf,;‘- T k ]J‘iqug Answor
White catches Awo black stonc . White 1 ‘s artiess. Now ‘the fpur R ‘_’_3‘31."““-‘:_‘_\1_}5 andsacrifices with 1 Black 1 lets Y\Ihite link up with 2. If
with 1. If Black 2, White 3and 3, - white stones in the coIner die;: _ a;ljal@. Wh}g s four stones on the right I at2, Whitel2 at i. '
‘ ' : T T e l ._'3r§_§eparated'_from-the corner after 5, a L cAE
- "PROBLEM 107 " _1 b . . RR E S
Y . : o S et . L .
, ‘ 1 i oo PROBLEM L o \; i
aee o “~ { . L JEHE 0
e
B e chntd i
- UERE ' B PLT e Ny
e - \ L b
I T
. Correct Answer - SRR “Continuation. .| . : ‘CorrectAnswer Wrong Answer
 Black'1 catcnes four white 'stones, " Brack gives atarl with =5 and 7, o Clack can link up by playing 1 and Black 1 ﬁa_ﬂ%.-Whitc captures with
It is futile to resist with White 2 and 4. killing e white stones.. i : 3-:-_'13*\7_\’11316'2 at3, Blacg 3at2. 2 and 4. Blac‘lk-' ‘k%as no follow-up. ‘
- é‘j’:&g PROBLEM 165 ' WS PROBLEMII2 .
S ; AN
OB : . ' o ?
Correct Answer - Wrong Answer © P : C - - :
Biack i fails, After Black 3, White 4 orrect Answer ... Wrong Answer

i hgerificing a stone with 1'is the key ' If Black 1, White connects at 2 and

o

Black 1 creates 3 shortages of T - ;

_ _ ‘ A - wives atari 1o i K stoaes. |
liberties for White. After 3; the 51X gives atari to three black 8 B White's five stones now di _ .
. . AeE i _ (. ! ‘ €. s now die. the four black stones t
e stones on e sight dic. | _ | . K stl‘ nes to the right die.
—116— 3 - |
- L [
ke




B C‘drrectAnswer' .
By attaching at 1, Black can,
" “yure two whité stones with 3

g with 5, Whites:
" “escape when White connectsiat 2.

" PROBLEM 115"

-3

e,

- |
Correct Answer o

Wrong Answer

2t - . . B
- By exchanging} for 2,Black captures Black 1 here _f@‘aﬂs-.‘ Black lgs
the white stones on the left up to L stones.up to 6. : i :

- PROBLSM 116 i

AR I S M

" Wrong Answert

. Wlack 1 captures only| on
" After 2, White's stongs are ‘»Isafe. -

. Correct Answer s
Black sacrifices 2 stone: with 1'and
catches five white stones up t0 5.

— 118 —

e TR T T, YO

it 5

7 I Black atatis with i, White’s stones

es four'”.

e stons.

Black captures two stones.

~Black'¢an link up his stones with 3.

. PROBLEM 113 e T ‘
.E PROBLEVY 6 ; 'PROBLEM 117 =
; T 680 : ¢ U HE&
‘ . : O@ ﬁ“ :; i
P Nk . @ ) ,.4. _ ‘ d ] -\ d
: B - . ) ; N . ﬁ 09 : - \i B+ Y
o SN | ‘s N "" |__¢ B :_I
4 - | - - 1 ¢ I L= i' i : ;_CI!) i
D Correct Answer . . . - WrongAnswer | . S 1_5'0””!’-’5—“[ Answer . 1 Reference Diagram i
.. " Black I'setsnp a shortage of liberties, _, Without the cut, W=__h_ite can atark at_.—' o Blzick i is.the ‘shape’” move to live, Blac :i;t i or A.also gets life for A
<o White camt save uis four St_di'l g 2 whii _l}}ack captures at 1 !1 ; B _._._;_You;_shou_ld rgmf:mber this move, Black, butjthey are not as profitable, . q
i S PROBLAM114 I R L * PROBLEM 118 | | o
S o S 2060
Bl 63 71 :;'f“ L —
e i) S HA-GDOOE T
T : L ! T ,
L . i A _ A_CorrecrAnswer _ i Wrong Answer o
Wrong Arswer 1. Bjack' i:is the key pont. With 3, If Black 1 and 3, White 4 ataris

- Black ﬁI'st;f 50 White can’t be captured: <
'PROBLEM 119 | | ]

et

|
I~ o
rgTad: :
T 7 \ | Wrong Answer o
. White. VI;,_erarates Black, so his If W?pit‘g ataris with 1, Black 2
:stones on the Ieft will be captured. makes tTe dituation a Ko.
: : . N :
PROBLEM 120 ‘
| e s
aate jheren
e IRVND: '
_:. . {&9‘ ‘ ‘ ‘,,'
Correct Answer % Wrong Answer .

If. Black sacrifices a stones with 1, Blackj 1 "and 3 fail to link up, as can

be seen 3fter White plays 4.

—119—



o C‘orrecrAnswer: : ;:'; ‘Reference Diagrai
Black.1 and 3 break the scki, All of

White's stones on the left now die. ataqis three white stODes. .

PROBLEM 322 - é_;
. 4 o -4 -
.. — O
R R
.Correctflnswér-_ : : L Wrong Answer
Black i is the vital point. After- . If Black' 1, White2 caiches
White 2, Black captures a stone with 3.. ~ llack stones on the':_'l_eft.f_:-‘_{_ -
[ . PROBLEMI23 i, .o
e .‘. i - . o .

Correct Answer .
Black 1 15 the vital point’to break

out of confinement. After Black 3"

| - _PROBLEM 124

- If White 4 and - 6, Black
| White ta ladder with 72 |

Correct Answer 2

Correct Answer 1

Black 1 caplurss {hree  white

stones.

“3{ONes.

— 120~

Confinuahion’ - 1. " -
catchis =

1§ White 2 wn response’to 1, Black &

Black. 1 also catehes three w
;

|
I

T

L . Correct-Answer
':‘x:;-' Black icuts-at - 1. After White 2.
i Black 3 ensures the linkup,

]

hite -

j._-;,;,-!"i it
o n L Cotrect Answer: _
If Black jumps to 1, there is no way

L

. \ C_orrectArzswer
i Bi_ac_k. ll-and‘r3 caplure seven white-
stones in a snapback. -~

- | 0 L
; i :l
2 A
B SN
-,T_l,a;‘
g)@,‘ D

- - Correct Answer
- Black i and 3 capture four white
- Istones.

o

RINSTRHECS

" PROBLEM 125

PROBLEM 126

=
w
<
==
b
23}
=
ot
[N
~1

prROSLEM 128 |/} |

DESaNEEER

HoD T
SOeO—

3 - | .

% I

IEmim. HERR

' |Wrong Answer
If B ack:"l, White 2 separates
Black 1nto two groups.

AT [
S ‘Wrong_Answer
If. Bl#ﬂ:]{*-],'White 2 will capture
four blaﬁk' sitones. :
for b

I L
HHreoge T

2 -1 f_T

#o @@@@% \
(N

b EWrongAnswer
If Bldck |1, White increases his liber-
ties and il.%}a:ck’s stones on the right die.
1ol

"Wrong Answer
2 atans three

If, Blflcl{: 1, White
black stqncs. Black has failed.

\




'-;:R()BLEW{:J,W Cow R PROBLEM 133
‘PR ek -.. : ) o | E- T \T |
‘.. N T @ : '_ i l‘
l. :r-' J i »p ‘ ]
; )
Y ogl
| : ST : _ T
lk--'-"k- . | S g7 7-.u0rrectAnswer ‘ ' HL’rongAnswer
- . V;’_ohg‘ Answer ' I cok B-aclcl _a_nd3 ca_p_ture awhite.stone. if Black ks ] lack’s stones in the
: 'GOFF@CfdAl”S";er tonesand Black. 1 defends his five stones, put  ipo o 1fWhite2at3, Black 3 at 2. corner ate in grave danger after White 2.
Jie can defend hils five $t0 i e | ok : R — ST VRS R
i Bladitceab playmg at i now it 1> White Who nas se_nt.e. ' “ e ' PROBLEM 134 ' {'
keep sente DY “ o - Q’_ Llgnt | L | |’é|
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ié%@)gé%( Yool
EEmiiamicacan
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PROBLEM 130

N

- 3 S SIS ‘. A
LT | RS Correct Answer = . ) Wrong Answer
" o o / T ‘swég -Black 1'-and 3 enable him to link When Black pﬁays 1, he suffers major
v H X i ' . . L 'P‘fong n / : _ ] : u ms .tWD-" o . Of " . ) . . N i
Correct Answer . 1f Dlack:l, White 2-.and -4 .cateh’ : p ' groups of stones. damage when \'}fl}lte plays 2.
D ot TR HACK -4y o ‘ \ R .
Black 1 Jlinks up his -t“_“) STTDHBS u‘, : four black stones. White lives. - . 5 . L] : - 1 PROBLEM 135 L
tne corder and kills-the white stones.. o ’ . ‘ ¥ i : gQ
. o . R i 1 ik : - ) " Sl L
{ 131 - : ! B . PN
- PROBLEM 131 | | ] L HeOCET- e \@.\f
v . UL e ! NN & @@5
-G280)
. g L?%@é
. 2N @
'- K : B9 ? 4
75 - 685 ; coor e )_‘rect)inSWer 1. - _ "Coy}reérr Answer 2 El;
AT S—6- T . JWrong Answer i ¢ \ Blick 1 and 3 catch the fiine white If White 2 |hete, Black double ataris %;
BT f nswer . . _ e et -8 th 58 :!,-" T ; . T - | 5.
K{. goﬁgchifstones {otheones - - Blak ! fails -'éo;lm!;;l‘s E;a::s 011 storics in the cormer. o with3. l | %
¢k links ' S el o ite 6 dem - N I 1 LRI R e . , [ " 4
onlﬁi outside with'L. i quenee 0 weite I = AP ] PROBLEM 136 oS e
. o T s i ) | { %
: . . e « 4 £ ' —$ S
Oy : PROBLEM 132.. . A SN }7 i \)‘ [ fg
—\ : ; ':w._‘* L : @L\r— B3 @\4 I%
Pl i g N : Chrgud ,'
- - € JASLy
T . , ‘ e
j__LJ i \ ‘Correct Answer - . Wrong Answer -
CU;.,-;?:'ﬁnswk’r . Black 1, White saves his SLOH‘TS by Binck catches a stone _am_i nrakes If Black ;%\'EI'H? capt;xr_es two black
T wital 1 for captuor- 2l o v two cycs for his group by playmng 1. stones with 2. Black has failed. !
PBlack i isthe vital pomt . L o the vital pont of 2. ‘ : :
- piayng O S - ' |

: i ite stones. :
ing the i white st. —123 — ]
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Correct Answer

b

'PROBLEM 137

Pressing down on the lone
black: stohe with 1 18 the most [
importani poinl to piay i this |-
position, This move: prevents,
Black from. expanding his posi-

“tion at the top. If White were

1] plaf any. other point, Black {-q—

woul_d’-j-fp_lay'_at"A, building 2 F
jarge. franmework -of territory at
the top.

* Reference Diagram

White 1 18 unsatisfactory - .

the face of Black 2. The same.
can’be said of White L at c.

Both: of these. moves aré ‘- i

ferior to White | inthe Correct.”
Answer.

e “:Correct. Answer -

ik Of the threec points in the
‘\broblern diagram, Black 1 is
-::‘d’w b_ést. It not only. atiacks
iahe two white stones but also

 aextend§ from “the black posi-
7 tion at the top.

. Reference Diagram
" Black, A’ would be unsatis-
factory.’ It ‘tightly reinforces

- gitlack’s- position . at . the' top
©' 5 right, But:it- puts no pressure

.7 ‘on thet two” white ‘stones at
‘pe pottom.
.. = Black C s also a good point,
" “hut in-cthis position the right

-iide 15 the most important.
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PROBLEM 139

Correct Answer - r

‘Black i, followed by 3,18
the standard response. Black’s
stones end with good shape.

Before playing:©3, Black

could first exchange A forB. -

| S T L
. T T | lll T
%- . Reference Dzagrar_n_ I e
X - Black 1 here is‘another way -1: -
to play. The contjnuation’ 1o S _,i
White 6 is the istandard se- 1 e f i
guence. S R L , Ai 7_
However, Black 1 at Aand | 7 ._ 1
5 are had moves. . 1. , & &“_‘W
* T muE
u B i
- - |
i . . 4\
" T

.. -Correct Answer
¢« - Black 1'1s the standard way
"' @to piay 1n this position.

S ='Refqrence Diagram

~7. Depending on the circum-
tances,. Black 1. or Black A
could: be«j._piéyed. “You can’t
:say that these moves are bad.

Correct Answer .
Black 1 and 3 are the
Dest moves in this position,
After-4, White’s position on
he left is -150 - low,” while
‘Black’s extension from his

CL :\_fu'ail is ideal.

-

. Wrong Answer

‘ Black 1 15 in the wrong
dircction. White 2 works

“Yery well in comjuncticn

- with bis stone to the left of

" *he side star-point.

PROBLEM 140

] : 1 iy
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PRCBLEM 141. \!
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“Correct Answer’
‘Without any doubt, Black 1
s the, vitai point. The sequénee”
to Black 5 leaves White's stones’
vulnérable. | '

.} . -
[ '

Wrong Answer
strong: position. Black has
failed!

s C,orre::' t Answer
White 1 is the correct
way to pizy m fhis position.
White’s position at the bot-
tom is 10w nerfectly bal-
'anqéd:z ’ :

Wro‘ngAnswcr .
“Phis 1s the wrong Way.
for White to play. His stones
at’ the bottom A€ - too
oW, "

lf.;iBlaclc 1, 2 pives White a

i
-Correct Answer

|

1
_Ji:

|

4 *Black- and 3 kill White,

" “Inore profitable.

EEAEEE

Correct Answer

~ PROBLEM 144

- Because of shortage of liberties

4, White cam get a ko.

. PROBLEM 145 e\;i |

. .

(20D
: DA
T . .:)()
el o [ |

- Correct Answer

%@, Black gets a ko up to 5. Black 3 at
~“’A 15 also a ko, but 3 in the diagram is

iE Black 1 1s the vital poini for making
- Ttwo eyes. If White 2, Black ives with 3.

LA bl
|+ | Wrong Answer
Black;1and 3 here fail. After White -

g T

ﬂ

LY
o5 P I e Pt
: Wr_or:gAnswer

Blac -‘:1.}‘t~"ails. After 2, White has
enough ibérties to live.

PROBLEM 146 | |

|
111 | |

Co .-%'.Wror:gAnswer

If, Blyck 1, Black can’t attack White

after4 bpcause of shortage of libertics.
L

|
s e R

, Correct Answer
Black | 15 thé vitai point.

ot
_mow nothing White can do to kill Black.

PROBLEM 147 | |
NIRRT
AR 2
: e . @:‘J
T oed

_II St E.WmngArzswer
If Black! 1, Black dies because of &

There is. 7
shortage ‘of liberties after White 2.

| B
—129- . i
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' pROBLEM 148.. .

- Wrong Answer .

After Blac'kwl,.‘iBlack ¢an-live :n'o-_--. L :
matter how White plays. T Black.

|
\
;

S -WrongAnsngfV

 Plack i allows White: £ live )

' QofrecfAhSwer co
Black i ‘gnd 3kill White, Finally, s

if White 4 at-1, Black defendsatA. '-sc‘;@;zifterﬁ-.‘_l S
3 _ S ~PROBLEM 150 : -

Wrong Answer.

Black sacfifices with' 1. After: '3, -
Black captures three stones and lives.

Hven if Black play
. PROBLEM151 ¢ '

Wrong Answer

: -Correet Answer _
1 Black sacrifices twoO stOnes with

i, White Will_ die. -

~ Black 1 he
White two eyes.

~ 130~

S et i

[ Black "1, White: 2 an 4 kil 7 L

LI i here, Black dies after White 2:°
s 1at2yhe still dies:

re faits.iWhite! 2. f1vCs
L 1 -

~ Correct A nswer

g

AT RO
E ) C'arﬁgzc't Answer
Blacls atars :ft?ith 1 and then makes
$pace ‘b’ig qy%‘,; with 3, White 15 dead.
L !

PROBLEM 154 \
| I_

PROBIEM 155

- .:}Z’dack'l is the vital pownt to make a
big-eye. If White captures with 2 —

— 121 —

* AR

o ] )
. Lk ]C_'ontinuation ) :
. Wh‘tet!plays 1 after making a ko
ireat, Bl‘ac}:c takes the other kowith 2.

-

| SO+
K ?‘r’rongAnswér L

B 'I:rymg‘J tomake a big eye first with
1 fails. A L“”Ez-’ the eye 15 too big,

1

i
|
}
|

i
',$}
: |
o]t
i

OB :
Y i
R
2‘@ &
Wrong Answer

o
) Ir ,:B_lacpf _c!ap_tures four stones after
, White can live by capturing two
stones with the ‘under-the-stones’ tesuji

|

A

; I8

o =
Continuation -

After thl e)'fch:mge of 3 for 4, White
has a dead G-space big eye shape.
l i

1.!




- PROBLEM 160

To6:

|

S

|
gt

%‘

!

00
&®

| o
] %5 _
~Correct Answer I Correct Answer2". | ) } :L"J
Black. can get a Ko with the se- 1f White plays 4 45 here,.it is till 1 /
" quence up to 5. 4 ko after Black 5. S g .

i
T
T

PROBLEM 157

ithe captured,

|
B

~ Correct Answer: ':’.-'1' .ngrigAnsy;'ef;;'-ﬁ c
If Black 1, followed by 3, Blick . Playmg - Black 1. -fi;sg'*as-.wr&ng.
" wins the capturing 1ace by one move. - .. - Blackoses .tl1e.capturing.-rac_¢{ : L R

. PROBLEM 158" .
Y |
’ j i
' E."’.I 260897 | fack |
“-Correct Answer 7 ' Wrong Ans_i«v_er'i:i _ . wll,i?-e 4 .
Black I here {iils, White catches”: ;

Thredtening a.snapback with I,.fol-
“ Jowed by 3, wins the capturing race. .

PROBLEM 1587

two-stones-when he plays 2., |

o ‘Continuation 2
TFrom hete you can see {hat Black
_ wms_thc capturing race by one move.

Wrong Answer - :

Correci Answer - ‘ - L
Llack i-catches a-stone;bul after 2 .. -

Black 1 15 the vital point heye. Alter
3 Black catehes [our while stoncs.

Black loses three slones at 1‘}19, bOTLORL -~

~132-

iy . [ : - : * CO}‘{G:E{E-AHSW&_

¥ : h{hﬁ Anereag gii_his liberties by one -

o : ST if he plays 4i; The five stones on
o -

- PROBLEM 161

plays 1, Black: loses the captunng
race, 5

o 4’ ng Answer _
Gomng ter% the five black stones

with 1 resultsin a ko up to 4. If 1 at
A, Black plays at-3 . and White loses,

2 én{tinuation 1
Black sta ts‘!ﬁlling m the liberties
on the outside, After taking with 9 —

_ Wro}*!ngnswer
White 2 is| the vital point. If Black




+ﬁ

_ -.,orrectAnswer . _ i WrongAmwer y .
"thte 1 is the vital point. If BlackZ ) The order of moves 18’ Jmportan .
“White catches four stones 3 e ﬂrst White has. no;!‘ ollow

v o

with 3. If - I Whitt
‘Black 2 at 3, White catches two stones ~ "
"on the left by playmg at 2. RS

““orrectAnswer ‘ . : WrongAnswer e
White should sacrifice 2. stone with . Wlute can’t-cateh anythmg with 11.

1. If Black 2, Wh1te 3 catches ‘three Black ::defends. at. 2 and he: has no

black stones. shortagé-of liberties. )

PROBLEM 164

" T ™
_Correct Answer ' _ Wrong Answer
Black 1:is the key pomt. Up to 5, ‘If Fiack 1,3 K0 arises 10 the-cOrner,
Black unconditionally captures white This s a axlure for Black.  ~
stone. : ‘ .

. stone§ Dy setung u

PROBLEM 163

=

have watcm out f ) %

b

PROBLI‘M 166

Ahan

S CorrectAnswer _ WrAﬁgAnswér'
“Bligk 1 and: 3. catch two white If Black i, Black suffers a big loss
ﬁi‘snapbabk. You . after White 2.

—y

|
AN
@,

OHCY a

Correct

The “monkey juj ﬂ of White 1 is These xsﬁoveé are mfenor to the
the best way to eaf mto Black’s terri- - correct answer.

tory Black 21 the 'pcst answer here,

) but m other mtuatmns dlfferent replies

" PROBLEM 167

Wrong . Answer -

\.
|

SN

" . Correct Answer
Black i is. the best maove, " White

must rbspond submssively with 2 and
. 4. White2at 3 1s unreasonabic because

of Black A.
—135 -

Wrohg Answer

Compared t(% the correct answer,
Black 1 is two points mferior.

R

AR e e




. Correct Answer

" Rlack 1 is the most pro- |
fitable way to reduce White's |
area. If White captures two
black 'stones after 3, Black |
sumply retakes one stone |
to maintain the connection.

Wrong Answer

4 .Black 1 18 wnfericr. White
blocks with 2. Compared 10
" the correct-answer, this dia- |,
grarn‘is much Jess profitable.

Correct Answer
Black 1 is-thie most pro-
fitable way to catch ihe
- jone white stone on the left..
White 2 at'3 would be un-
reasonable, In that case,
Black would atari at 2.

Wrong Answer

rect answer.

 PROBLEM 169

The scquence tv 318
greatly nfenor to the cor-

L |

[} 7
gy Correct Answer
“#5lack. 1 18 the vital point. White

T

- _.isj‘ldgad after. Black plays 3.
~TT T PROBLEM 171

‘.,_,I “.
Tt

B ERIE

i Corrfz(:ngnswcr
. If Black plays #| White’s second eye
Isc no.matter Wilat he does.

* . Black 1.and 3 are the correct order.
ngtefs second eye.at the edge 1s false.

- | -

. ‘Correct Answer.
_.Black 1.and 3 kill-White. If Whit

: | : ] PROBLEM 172 RN A
o e
.3:- ;‘ , 1 ‘
ANE &
. [B8reece 28
- Lgetoes gt
CorréctiAnswer. ’ H;Vr&néAnswer

PROBLEM 173+ [/, |

: tai:ces',two stonies, Black plays above 1. he captures with 2.
~137 | \ i
i o
. |

| T oo
S WfpngAnswar
If Black \L; White lives by playing 2.

If Black 1 a{ 2,White 2 at 1.

-

T

L Vrong Answe.

_ Blac;,c,ii ill capture two stones, but
the matn. bcﬁly 'pf- White’s group lives.

~If Black I, White lives with 2. If
Black i at 2,\Wﬁite lives with 2 at 1.

lj’ro'ng Answer

ol .
Black '1 fails. ‘White 15 alive after




PROBLEM 174"

?ROBLEM 175

Wrong An&wér
Ii Black 1, White: gets: two
wheu he pi ays at 2.

CorrectAnswer BT
Black i is tnevitai pomnt. If Whité'
2, Whﬁie diés when Biack plays 3.

. 'i“;'f T PROBLEMI-

WrongAnswer
if Biack 1, White gets WO eyec; and-

. Correct Answer
Black 1 1s.the: vital pownt. I White

2, Black 3 kills White. fivess whea he plays2. o

—~ 138 -

R PR N, e ot

C&rrec t A r:swer Wrong Answer:
" Black I is the vital pont. If White . i Bia"}c 1, White- 2 -and 4
atans with 2, Black lives wati13 ' B‘ack
PROBLEM 177 '

_ Correct Answer : Wrong Answer :
Bladk 1 is trie vital pomt. If Wh;te If-Black: L, White Tives by plaiymg-
2, then Black kills Wh1te with3. 2 S -

CAY

eyés 7

R PROELEM 178 - L
L oy { : PobEL
s T 3 ‘ l e 1
e T 1 gt
co : LA
. 'r T - { e ‘I
e C-
.. Biach CorrectAnswer _ K ivllvong Answer
ack "1 is the vital point. 1f White Jl |
i . If Blagk piays I, he can’t et t
gBEack 11ves w1th 3. eyes after w}me 2. g e

B -E:t

@,Blaclc gets pw? eyes and lives when

Correcr Answer

)
b

:B]aclc iis the vital point. If White

\,orrecr Answer

he’ pkays 1.and 3.7

g L !iQ(ﬁ%@‘

+ Black: Fets two eyes and lives when

PROBLIIM 179 \
|

rongAnswer ‘
if Blaclc plays at i, he can’'t get
two eyes after White 2 and 4.

] 1

PROBLEM 180 I
;

Bl
!

H"Erong./{nswer

If Black 1, Black’s group can live

only if he wins the ko after 2 and 4,
§

: |
PROBLEM 181 A S !
1]
i 1

PN
AT A

o

829
Wrong Answer

Black fails, 1f he piays 1. He can't
get two cyeT after White 2 and 4,

~139 - ‘ \
|

L

Bl
!

z
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' (;‘oz"rcci Answer 2

. Corréct Answer

-~ Correct Answer

T : WrdngAnswer
Blae¢k 1 ensures that Black will get

1t may ook likd a seki after Black 1

e
oyt oand 3 i this order also g
sk 1 and 3, White can’t Playmg 1 and 2. oraer === 1
After Black } @0 > Kills White. ™~ |
. get two eyes, so he dics. : wl
| 'PROBLEM 183 N |
: A% 52 i
! T
- R " _
‘ T * Wrong Answet : L
Coirect Answer : . Wrw]éfte s twro eyesand |
e | s the vital pomft. Alter Af Black: 1, Wit § T
o Black ]i -IS; o T es whenhe plays 2. _
e B_lack 3,‘\\ hite 1§ Qj ad. _
e Yy  PROBLEM 184 |
|
4ol 2 e { :
= ‘ eees——— " |
A A " Wrong Answer o
CiCorrect Answer &4 thi ge Lence 10 6 results’|
Black 1 and 3 p.‘.‘C\’Cnt White from . lf Bla{"\ il; '; ac Sfa%cd R
. R ¥ g b . LRy 1as Failed.
. '. gétting twd‘cyCS,.SO White is dead. ‘inako b .:lC | ; |
T o © PROBLEM 185 o
e foefrt .
i '
19 ;

. Correct Answer i
If Biacic i and.3, White cani get
two eyes, s0 he dies. ‘

|

Kill White.

— 140 -

Black i and-_Bo in this order glso%

L

" two ey and Bfe. -

and 3, but it is not} Black 1s dead.

4
i

B N i it

: PROBLEM 187 I\;.i.. :
T
|
[
1E
{ i
‘.'. “
B v Correct Answer _ Wro%-ﬁnswer -
" .~ The .sequence up to 5 gives Black ‘If White i, Black plays on the vital
-the dead.bent-four-in-the-corner shape. point of 2 and li\lles_'pp to 4.
. PROBLEM 188 \1 5‘ |
: {1EE 1
R |: i !
e
L
L
, R
!
T l | !
-« Correct Answer. Wronj Apswer
< Black 1 makes the ‘comb’ forma- If Black i, he dies after the se-
~ o tion, If.White 2; Black lives with 3.. quence to White 4‘\! _
L ‘.:’. : - - . |:'§“
“je R _PROBLEM 189 l% !
" i e L1 A
bl \ . SVl I A
W 4 sl
. Hes Y e )6
L TREESL-] 2906
Correct Answer

Wron, Ar';swer

If Black 1, the sequence to White 6
kills Black. I

Black "{ 15 the vital point, The se-
_guence tooBlack’ 7 results 1n a seki.

1

i

i
3|
|

I

|
— 141 — . l‘
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' PROBLEM 190 | ey PROBLEM 194 . | | =
: 1 ‘ - K - "' N gt &3
1§ Seqst | 1 FReQeReeO T Foeoes
W IV E ) R ’ lu 4 T ‘ ] . ‘
B X i S S N R _ EEINER
R =‘. B3 P ‘ | . Correct Answer 1 Wrong Answer
{ f*orr-eci‘}l Hswer Wrong Answer ‘: : @ Whﬁ‘-'f i1 the vital point. After 3, . If White ;l,.Black can tive after he
After-3, Black will sacrifice two 1§ 1 and 3, White sacrifices | 4, \ [Black is left witha dead 3-space bigeye. captures tllrep stones with 4.
stones, leavingWhitewlthadead shape. bt he:f:an then recapture i a:d 11\’31- _ T - PROBLEM 195 % ; | {.' S 1 :
PROBLEM 191, SR B !‘ o o
T W] | it ,
B N ! T LT Al
B . 3 ST, o S R I%I i ¥ | , T
.,rm @ : o oo L r,!%(r.’CIAHSWQI‘ : WrongAnswer _
1 jr‘ﬁ—f*-r— | Jper it R -7, BlacK 1 .sets up a snapdack. If White Black [ fails. White 2 makes two
Correct Answer S *:Wrr)ng/lHSWGP‘E_ - s Tk -aefendsiat 3 with 2, Black plays 3 at 2. gyes. If Bl -1c}% i at2, White 2 at I
After .1, White'dies smee he can’t - - Biack 1 docsn capture anything. s | B ' o [ | :
- : ' vy lives : ; - 1 p ) ! j
avoid the capture of two ofhis stones. \th.ihve_szqy pigymg 2. i . L 1 ; : PROBLEM 196 | % % }i
. : : R ) ! e Eie NS 1
., PROBLEM 192 - I P Sl in .
: S 3 e AP
U é: ,?.";Em - - . ?(@
L LLTIE | SR R At
ol = i . . . -Corpect Ansyvoer Wrong Answer
C()i‘féCtAHSW('?’ : o ' wr()”g . N . ol nl e Aft i W g ifi thr t . Wht 1 3 d "t it ti
e . White‘ilas £ -Black |, White lives with the . 5. oz Afterd, I;ute sacrifices three stones 7 ite L here doesn’t perfi he
Black 1is the \iltd'l porat. > 2 cequence 10 6 o ; L 3 <g-4th 3. If Black captures, White retakes three-stonk sacrifice as m the correct
only onc eye, s0 bie dics. ' seau; S S ! 4 --at3, eaving Black with a false eye. answer. Ail'ter 4, Black 1s alive.
t%ﬁ.i.m%ppn 'i*é—zl\ PROBLEM 153 i R 3  PROBLEM 197 1 S
- . _'L_' _____ 'J R '> ) ) . f ) . B I { -
A e amENmbe: dH o
- Hw 4
) i i- 1 : .+ ; :
- - |- : r 1 _.E"_[ L
: = : .CorrectAnswer ‘ | Wrong Answer
Correct Answer ‘ s ) -M_r ong AI?SWGE" 't e\t two - Black 1 1s the vital point for making - If Black b, White strikes at the vital
¢ Black plays: the vital point-of 1, f Black plays 1 he cant BT WO eyes. : : point with 2,killing Black.
hefives. T eyosafterWhite 2,sone dISS G e - ol
' S o e _ 143~ o
] RV, TSR S L L SR




If Black 1, the life of Biack’s group *
‘depends ounthe resuit of a ko, % !:
.1_ . . ot

1 i i. e i|i o
" Wrong Answer o

If Black’ 1, it ‘becomes a ko g{ter
" White 4. Biack 1 at 3 aiso resultsin ako.

PROBLEM 200

i Wro}zgnswer B
the vital point for getting '~ If Black I, the.combination of Nlute
tw eyes"‘ah; life.” . 2and 4 kills Blaek. :

PROBLEM 201 %

i Correct Answer .
Black 1 and 3, the white..

Wrong Answer o
If Black i, White plays~2,’_ ﬂﬁttmgf
WO eyes :;nd life. :

Wrong Answer T

Lo
~ 144 — o b
: . |

i

“Correct Answe

: eitherside, so B]ac}_:__dies.

T N
HSWep

g Cforrec)t :
~White 1 ana 3 {c
White'] at 3 first alisfé{_kiﬂs‘ Black,

Correct Answer
Black*1, there 15 no Wiy that .
" White <an make two eyes,

e

Afteh:

fite 1. sets up a- snapback on

iﬂthe black group,

| PROBLEM 205

at 2,
PROBLEM 204 .

If Black 1,
black group 4

— 145 —

_ Wi
White ; fails,

Wrc%ngﬁ h.§WGr

If Black i, w
lives by playing at 2}_-’;

™

fb_!:“tgﬂ}zSWer '

If Whij‘.e ag_ax;ris';',;\viﬂl 1, Black de-
fends with 2 ah"_d]lives.

' PROBLEM 203

White 2 ang 4 gve the
dead 3.space big eye.

o 4y

Wrong Answer

hité gets two eyes and

b




- . . H . . N . R -I 7 L . . I .
: . I I Tl . i PROBLEM 210
.PROBLEM 206 _ o N P , M
i vi. 1 + @1‘ w«@ A g
‘I . -..-_ - | 1 I‘ | T - i ! |i| 0 i
B S - CorrectAnswer : WrongAnswar
- wmngAnswer : T “White 1-s'the vital pomnt; White can If White } Black 2 and 4 prevent
; 1 18 the’ v1tai pomt 1f Whlte . I Prack plays 1, Whlte i ‘ l_we with the sgque{}ge to 3. . .+ White from gettmg two eyes,
: T thte two eyes and life. T TINE : . .
: 'PROBLEM 211 l R
- e e $ u
Wrong AF?SWW : : ct. _ Wrong Answer
Bl- K 1 dna 3 kil thte 1f 2 is to If Riack exchanges: 1. for 2 White: P : | inere 18 no way If White 1, Wh1te will be reduced-to B
jeft of 1, Bla.ck throws i below 3 U getsa uymg 4-gpuce big eye. s a dead 3-space blng eye after 2 and 4.
PROBLEM 208 PROBLEM 212 | :
A1
o h} %
- % : - . T Al ™ ) ) ‘ N
: Ny " ST ek 3 | G
1 ko Niihd : ¢ : (- i
' T Corréctj:i‘inswer ‘ : , m(qunswer
‘ | ' i for getting ‘If Black 11. Black dies after White 2
WmngAnswgr R ncK s the vital pomnt
tAnswer ,
B}ack n ftjlizesltal poimnt. If thteZ Bla K 1 and 3 fail. After White can- : : and 4. If Blac‘k }at3, White 2 at 4.
11 d, ¢ - " . .
' Whitg, has "o tolloW- p after B].ack 3. {ures with 4, White can’t bé kille i . PRORLEM 213 \ |
' : P I b (RN I
PROBLEM 209 - ‘ Lo P y i i wl |3 Q
T L . o ) - 2 7 . R g
E R . B L
Wrong Answer “ . .Correct Answer , lirongA nswer &
Correct Answer N1 BiacK 1, White iives w1th theise- Black I-and 3 :capture one white - If Black e changes 1 for 2, there 15 t%
Black 1 and 3 prevent White from- tod, I . stony and give Black life. no way that He d'an live. e
getting two eyes and life: quencs.up o \ : | i
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PROBLEM 214

: (I |
. ~ Wyrong Answer |
: k i kills White. If White takes 1f Biack plays i, White get§gl1v1ng

nes, Bluck retakes 2 stone, shiape ‘1 the comner with 2. \
PROBLEM21S &~ . |

1 Wrong Answer.

. l CorrectAnswer e ong An : _
1EBlack plays 1. e will get:two < if Black, plays _1,h1s ston_c;:if»';l-.re 2

f‘ld his stones will live. o ‘3fFeTij7hitel 5 | |
' | PROBLEM 2163, | .\ o o

Wrong Answer

Correct Answer -

dead. ¢

1f ‘Black -1, White 2 g1v§§ up|two

i
b .

. “Correct Answer
.Black 1" and 3 prevent White from '
ggﬁting two eyes, s White dies.

T TEET T
MR
EREREE :
RUAEIE AN X
i

i T o o o B
S ,.;;Corr%cﬁtgirzswer:,; B
Rlack kills W

L]

1y Rlack Kl - by sacrificing three
‘stonss with'thé sequence up to 5.
S = { B S

2ul

pae SR
- CorrectiAnswer
White "1 ensurcs that White will

PROBLEM 218

PROBLEM 219 -

PROBLEM 220

T
‘ rdingA'nswer
Black 1 fyils| White lives with 2 and
4. AR ,
|

-

D

2
o
SilEEEREL
) i ﬁi{'?’qhglﬁnswer
If Black ll, White lives by playing

2 an_ci 4, \

.-

. %quhgfinswer
If White |1,! Black kills White by

fack plays 1, White can’t pre- . B , -
Yok f ing : {oncs but destroys Black g second ¢ye. L
fack from gotiing th e - : ° N i . gettwoeyces and! lifﬂ_- destroying his eye in the corner with 2.
LEM 217" ' i L . . :
'PR.OB ll ' 4 ‘ PROBLEM 221 - \ A
. L L]
I ' T
e 185
. T
| R
| ERBE
A
Al L | . LD
Correct Answer Wrong Answer: | - Uhite i ComectAnSWET. oo If Whi P?Gé'ng,?s . Black 2 and 4
i : o t. After . lack l:lets White get 2 §econ:d gye " 7 _-ute--L and 3f_;‘are the vital points \ite plays 1 fust, ack 2 an
fack 1L 15 10 vital POt 77 i with 2 : B B forwhiteto live: ' give White a gegd 3-space big eye.
&k 3, White 1s dead. ane :" e : 1 oo s : i
o148 E : ~ 149 — o
: - [iwpon
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PROBLEM 222 g ‘ BLEM 226

e - Correct Answer E WrongAnswer ,
’Black 1 is the-vital point for ensur- - In answdr: to Black I, White strikes
1 f*.that the black stones will hve at the vital point of 2, kﬂ!mg Black.

B "
.‘,;. ~ PROBLEM 227

L 'Wﬁ'éng Answer o .
If Black i,-White can live by playing
2. IfBL‘CK iat 2, White 2 at 1r .

zx

2kl

e H RS

I
l
“E
B3

T

rt/rong Answer. -

_-_3_.,.

) . 'Correct Answer AT P my ]

. te gets two gyes and | |

Black kills White by sacrificingtwo . If Blf;‘;‘ White gets two Byes a0 s;r and 3, White can’t If Black| plays i, White gets two -
storl lth 1 and then playmg 3 at 1 lwes "' : 4 1 is stones die. o eyes and life with 2.

PROBLEM 228

]
I
A 5
™

: CorrecrAnswer Wrong‘irlns:aiz reduced to }Vréff?gﬂﬂswer
Black 1 1s the v1tal pOlllt " Wh“e I ‘Black plays i, di R “If Black plays 1, White can live by
g S-s.;ace big eye, so he dies.. playingat2.| |

2. Bidck tives with 3.
P . -

: 225 .
g Ly | PROBLEM ﬁ;+ PROBLEM 229
RE=EENRT®
o T ‘ o
B quJ_ B
e ) WrongAﬂSWGT — " e _f._CarTectAnswer, 7 rong Answer -
: Correct Answer W’«nte answers 1 with 2 and 4. White “Black 17sets up a snapback at 3. If If Black 1| White can live by piving
Blac’k plays 1 and 3 Whlte et now captures three stones, 5o he 11ves. s 2 2’3, Black 3-at 2 also kills White. up two stones with 2 and 4.

s : L
~150 - |
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SRR ‘ _ ‘Correct Answer _

i Continuation: L o _If?-BlacK-plays on the central pomt if
_.Black sets up a.snapback with 32 °lwith-1, hecan make another ¢ ye  White

The wlu;s stones are now‘ ﬂ"f‘d'!, ; | e1th§_{ t.o the 1?1t or to-the right. - vital poi
 PROBLEM 235 . -

T i
' - e

- Correct Answer
Black I is the vital point, White
tures two stones with 2, but— ..

kill Black by striking at the "%
£ 2. -

T

o 5l
.PROBLEM 231

o A 1 R t hd

e Torrect Answer: I '"‘Wrangfinsw!ejv'I o

‘The centril pomt is crucial. White If White '1; White is lcft with |
e g : 7 _ White "1, White is left with only "

: ow get fwo eyes above and below. _one eye after Black 2 and 4 -

.l
2l
|

- White livés if he plays.i. If Black 2 " .In response 0 1, Blagk plaFfs 2and -
,'3,'White3at2. - SN o

. PROBLEM232 |

PROBLEM 236

Il

|
1
2

' ‘ EBED L

' : . .|\ Wrong Answer '

the vital pamt_fqr killing If laj;k' i, White sacrifices two
C : stones and lives with 2.

S Correct Answer . L _ . RPN
 PEven if White plays 2, ¥ and 3 make ;. In-answer 10 Black_:l;,_ White c;;n.get' B
_two eyes and live with 2. -

: White's second eye Talse., s0 he die

PROBLEM 237 | ||
i

o Ly PROBLEL 233“; )
i i u
e - : 1
24 - - g : ’ 1 o EEOE
e - L L { %
O 1 e
.Correct Answer & - '-WFOHgAnswe‘

' Correct Answer o Reference Diagramt S
. Black sacrifices a stone with-1 and Rlack can live witb;l am} 3,butue
ives with 3 and 5. (White 4 at Biack 1.) joses Tour stones whez Whité pgay_\‘jrf_.“.. ‘

sdf .fBia_cK plays I, White can get only It Black captures a stone with I
- one eye in-the corner, 50 White dies. ‘White gets his second eye at 2 ’

1

ST - 153 — l\
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C‘orf ecr Answer

ing the cyodie noeds {o live.

correc' Answef
12(.%\ 1 und 3 teave Whit
one eye 50 He 18 dt,:ld

G

CorrectAnswer

Bldck kil lx- White with the scguence -
e oL |

Black i captures two stone.

Black seis up a.snapbach v
. {hen nikes his secofd eye i

PROBLEM 233 ,-{@ 3

%Al
Nafe o

A;:@h
jasanng

i
L]
1

T

H’:ou,s;“w.swm
Bluck 1 is answered by gWhite =

ls]

and 4. White easily lives. -

PROBLEM 239

Wm:zg Answer

. secur-
White piavs 4 above Black 1

PROBLEM 240 ',l

- i Wmng Answer
Biack I and 3
whitzstones, but Whlte lives thh 4..

1th only

PROBLEM 24 }-j .

Ewoug A nswer

dh 1 oand 17 Black captures two stones with 1.

— 154 —

B u..]\ ends up witi a false. Lye when _

cieanly caplure WO

i White destroys the second eye with 2.,

b, i o b o SR
i Al T e b i o R e,

S WS e 78

o <Gt Rt WP

B

e e e

Lo o~
- T PROBI.EM 242, E 3 -
] i :.\ 7! ':‘ 4@ N
W FOOTOBCOC T 6
I Eants e e
S e I 1 w ||l; i
" Correct Answer V'rong Answer

Black 1 is the wital point. I White

takes two stones, Black retakes one. l
T '  PROBIEM 243 _ |
. . b \ . K |
LG - P
i} B :
35 i
i
K |
. . I T [ ] T T
C- Correct Answer ' brongA;zxwer

fBlack hves wsth L. Ile can now gat

PROL.

Correcr Answer
thl( 1 and. 3 reduce White to a
de"-,d 3 sp:tce big eye.

:'Q%,...;

. Correct Answer

ﬁlac,i( ] ensures that Black will get
two.eyes and life.

.- -
-

"M 244 ‘ﬁ

PROBI .

If Black plays 1, he ends up with a
dead 3-space big eye after 2 and 4.

The prov!erﬁ eigi. live, six die’ 1s

well illustrated by thi. sequence,

I
63
‘M‘ ’

(g3
Vr(gng/l swer
Black | allows Wlite to play on the
vitaj point for &,Ctt]nf WO Lyes,

M 245 % i
ol
l
W(mgA swer
If Black 11, Whlu destroys Black’s

second ey &Tllh‘_ 2.

o
¥

ik
i
F
4
b

e e

SR

T

it




H.mu Amwu
dnanswer Lo [ White connects at 2
ol Bluck 15 Jell with oatly one dyc

Correct AHsy

CBlack cun get two ey - and lite by

‘ wamr/lmwu
COAfter Black + and 3wy this (3iugmm’
\‘“lntu lives by capioring will . > and 4

R

:;_L

Contu Amu .

B..u Lo oand 3 kil b othe wlhite

PROBLEM 248

1\ cference D:a_rgJ il
Bluck

secrenee Lo shows,

Correci Ao
Vs the contras, antdiasynr
shapa. Bluek & ts Lwo 2yes.

Bk 1n the worst case, lives th.a
Canetin seki, as the

PROBLI 249

Wrong Answer
- Black | {ails. White Jives by captur-
“ing a stone for his second eye.

CCorrect ALsioer

Bluck 1 and 3 dest. - White’s eyes,

- killing the white stone

oy e o et i et e i L

g
i
.

i TGS

io -
- i PROBLEM 250
o7 '
e Correct Answer ’ | Wrong Answer -
= Black ‘§ and 3 sacrilice a stone, but In rcsp onse 10}, White atans 4t
sthen ‘Black 1etai<es three stones and 2.killing _tl}e biaci. stones.
; V_gets two cyeq RS
i‘} gu y ::?E' PRCBLEM 251
. ’;' f’iﬂ By e} . i) .
i ki
|
1
- ‘\
- ] |
i T
i CorrecrAnswe Wru: ; Auswer
_ Blatk can et two eyes and life by If Biack; 1, tI  only way Black can
: |%Dldymg i and 3. five 15 td win a K
PROBLEM 252 | |

: CorrecrAmwe

40 Bluck kills White By playing at 1.

© -heu throwingin a sfone wo spaces (o
~the nght of 1.

Correcf Answer
White kills Black by destroying one
' of his two eyes with 1 and 3.

{ Wmm'Amwc

i Blucl_} exci inges | for 2, White
will livelby, cum ng the two stencs i
Lhe cornn c:‘.f'

PROBLEM 253

TG L
O -8 @
| Wruig Answer
If White 1, Liuck makes a living 4-
space bi‘g e%re with 2,

e |
|

|



£ PROBLEM 254 . . | e

Raferc’rzce Diagram
Blatk I, aswellas Riack tat 4, also
ills White, pul the standard: atlacking

Correct A nswer
Blach i ¢ the vita) point ¢ he cal
W iel
anter’s sguare’. Up to 5,
? ?v ithea dead 3-space bigeye. move is Black i m the correct .,mwm
T Wi d 3- i |

PROBLEM 255+

%

. # :L Jorgebe
' ) ) oF
(,orrectAmwm - Humg Answer

3tach ag titree Agamsi-Black 1,
_Black can live by sacni g three 7
: | ' with.2 and 4 -

Togtdneswith 1. - ) s
| ' ' PROBLEM 256- 4 |

White kilis Bluck

i

(ki

Tt \ :

e Correct AHSWC Wrong AnSwer _

E:F’ Correct s NN . : N . e RS "
i?:' Black 1w the vitat pony fute-dics ek l\llo_mll_ White. Vhite
ig after 1 sgtieneeto Hves with 2 > aud AL

J" '  PROBLEM 257 H ""Ll:"']'"’l—'l""{' _L_Jk\

Li‘ ‘.h‘ iy e s PRV B ‘ .

\%’ : = \ llﬁ g 3?@{

x o RRREED eou il

13 N .1 ﬁ}@_l_@@ 1

i E Wrong Answer:

[ &) aps A Haw s ) 5
ﬁr Bluck nfﬁ-ﬁiicﬁ":'\i\! T After Black s the wrong order. yWhite
1% aek attacks. Wit :

N
i e

B

3

Biack »

White 1y dead.

lives with a seki

[ Ve
N ..

P LS

o

X
*

T
v
.
5
=
SR
i
i
X
A
"

an
v

L

Black 1 kills White by taking advun-
‘tage of his shortage_ of liberties.

IN o : ——— PROBLEM 258 . & .

T Ny : : t . 1 @

65 D2 Ll
DEHED : P
T -:‘ ] |‘| f g :

*—‘@ T e HLM i

~Correct Answer

If Biacr plays |
2and 4. \

r0ng A4iswer

White lives with

PROBLEM 259 :

%;a%\ gg \) OB 50 J@q
& @- TS0 2P0
@3 iherdiotid
[ i : A_: 1 ST
] @WQ 1 @% 3
B Ak did e
i | | e

CohebtAnswer l Hi/rong'-i.- swer

- Black sets:up the ‘under the stones’ If Blacll Black s no follow-up

TC‘;U_]I Rlack 3 .at A captureﬁ Whiie.

_ CAfter SWhite I,
wouid he suieide, so White lives,

“ After the sequence to 5, White can’t

after Wluté carpturm
|

PROBLEM 260

Ath 2,

© Correct Answer
connecting

L Wrong .1
If Whiteicapturcy
after Black|plays ba.,

at A

e
ich 1and 3,hedies
mowitlig at 2,

" gﬁsg@f@

B0
gt

Correct Answer

cmimicct-at 1, so Black lives.

PROBLEM 261

- 159 -

1

I S D

1
-
]

1f Black \I
3-space big %y(, alter

I
[N
T
_\l ‘

BH

Wrong 4 cor

Black - .»upwithadead

sile 2,



Coprect crse
C White 0o
B]ﬂCi\ R

e vitad e

spdce big v

{Torrect Answ .
. Blagk gives White o de
eye by playing | and 3,

C’uuecr Ans
I Black plays 1 ai
left wilh 1 dud 6- spdc,c b

s CoprecE U
Plas, oboand o
gye. White dics.

© pROBLEM 262

S B S R

Hmnf’
S wanie 1, Bluok pels seki wilh 2

1S
for EivVINg

QN

PROBLEM 283 - ;

Wrong Answcr
i.space big
sijce umnwlm&, at 4 1:.su1udu for Bl icK.

L * PROBLEM © 64

Rejercice Diagram
3, “This shape 18 Known a8
cye. SIR, If Black plays at A, White s dead:

Wwhite 18 ‘towery.

Wreng Answer
vapnee DR
sont of 2 o live willy a seki.

— 160 -

‘1 Bl‘ld\ 1, White lives. wnh 4‘ and 6.4

Black 1 lets White. phay ihe vital

- s e :
o it i

o~

~
P A 24
T e |
[AgeTe T
. ; i .
R i1 |
Correct Answer

i Blick 1 and 3 result’inako. I White
L 2al 3. Black A kills White outright.

; T .
3 [ o 65 z
=Y l
T
Fi: ]
7, I
Cc;'rrect Answer

’ |
The Sequencc to White 4 resulis in a
. ko. White 2|Z3gt 4 aiso_results in a Ko,
" but this ko ¥ ‘ouid be worse for White.

. _ C'arrec: Answer
- Black I .sets up @ 1 ko for the v it
'@Pbluurf

Correci Answer
The only way White. can save his
- stones 15 1o start a ko with 1.

- ~ 161 = |

PROBLEM 267 |

|
PROBLEM 269 ||

| :
\l 1 Wroig Answ or
If Bliu,lq' 1 and 3, White lives uncon-
ditionally with 2 and 4.
I

.
B

T

it

|
l
[ o ! !i<‘
;. Wrom;Answer
If Blucl{ i, there 15 no ko, White is
unuo:muonally alive after 2.

!
-
l
%
I
|

) !
o -

|

|

I

Wm s Answer

Ir }S]ack 1, Whitc caiches threg
bluck stflws and Hves with 2,

i WrungAmwc
1f Whue 1, White 15 requeed 1O @
dead 3- ?paue big eye up to Black 6.

L

L e




Cosrevt 4iswer
Dlack 1 A
lite oi the vhi

Teioup oWk

v1ULLL,

o: rec t Answer
White thamd. 3 set up the

A and it 13 s1itia koo

(‘um'( i Answer
Blacx I and
a double 1\0. 50 ma Jives,

Cerect insm,

Black 4 to fhe et of 2, Wi

2 turn the cov-.

Black can live by making @
1 and 3,102 i 3. Black 3w o

PROBLEM270 = - g
.- ) T |

SN L
Cenrtinuaiid :
the AlierBiack 3,113 e plays 4. Black

respondewith § qmi oo slill a ko

PROBLEM 271 -

_ Lwong Amwcr
o, If owhite 1, there 15 no kb alter
slays Black .

ROBLEM 271

i WJ’u.'c Plays First
mtlo If Wmtu plays first at i, then Black
must ]’)l'-_y 2 m.d it becomes 2 re_a_l ko..

PROBLEM 273

\EI .,, T

WrgRng ANswer
it Black 1 s answered by 2. Even i
> Black pays 3, he s dead, :

— 162 —

e ATUTIRTRES U RN B8 F

e
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it

RS 24
ﬁ On0
. SOGC
.I-. b
nEEEAUANI
. C'orrectAnswe"

,B]ack 1 and' 3 live with a seki. If
at 2 captures

Wl@ze 2 at 3, Black 3

. twé stones and hves outright.
t
E
L cT * Correét Answer
. - Black gets a seki with [ and 3.1£2
at 3 Black 3 at 2 and i s still seki.,
B hy 15 :

B C’orrect Answer
Black ‘.gcts a seki by playmg !

and 3, -
. 1 - 4 : i -1 @@%" _l
] D,
TR
IR S Y ‘@,& y
e
: m s o)
NN ATy
) CorrecrAnswer

‘“’hxtf, i and 3 are the correct ordet
of foves for White to get seki and live.

PROBLEM 274

RN
bisides AN
HELIE ek A

et T

FTT T
Wrong Answer

If Black} ll.exumngmg 2 for 3
reduces Blagk %to a dead 4-space big
eye. K f

PROBLEM 275

i
|
|
\

' | I
{Wrc‘)ngAnswer

1 Black 1 it becomes a dead bent-
four-- Lm, wrner shupe atter 2 and 4.

PROBLEM 276

7 erQrigAmwer
If Black 1), Black puis a dead S-space
big eye after White 2 und 4,

PROBLEM 277

e e
R :
i
L); L
i :1 "
"1"‘ 1\[ N o - .
pmu e
‘ I | P

anngA nswer

I[ White
dead 3-space

big eye.

—163 - ]

1, ‘Whitc 15 reduced to a

2

iired
ek A e
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T
orrect Answer

Correct Answer

Black ! ‘and 3 wre the I

Black Wins the cupturng rce.
- r .

g

oot Answver

“Black ! as the vital poiniones
is clear the Biack Wil caplion ot

‘ Correct Answer
* Black s the vital poiil Lo
ing the whilc stones in the cor i

Black s the wvital pout, MW lie 2,
Black ataris wilhi 3 and catehes Wisle.

I ' !
O Wreng Answer ‘
Black -+ Tuilg 10 capture the four]
stones wien White auswers wiLlf&.

PROBLEM 279

IS, W Biack plays 1, be foses hiis three

gtones 1 the cornet.

PROBLEM 280

. Wrong Answer
BRI I Biack plays ©oand 3, e will iose

e (oo siones when Whike plavs .

pIORLEM 281

. W}'o}zg Answer :
captur- if Black | and 3, White geisan cve
up to £} so the three black stopes dics

64— .

e L@y |
> Correct-Answer
1f Black 1. White can’t atar, so. - Playing B

[

[ R A
- Wrong Answer

B V acl‘cl first lets White atarl
Blazk catches fou'r‘-whitc stones. with 2 and 4L B!ack Loses his stones.
R PROBLEM 283 \ ' l
—T A X ‘ 4
2 5 S92
T ang

Wr%mg Answer
1,:White will capture lwo

'N'Qiucl( A and ¢3 catch- the white If Bl:ick
stores at the cdge., - '

- Corfect Answer

black s»?oneslwiih 2 and 4.
o

" PROBLEM 284

TR

 Wrpng Answer

3, will If Black'plal;ys i first, he will lose
his four stones on the rght.

capture five whité stones,

e
- PROBLEM 285 | |

. ]

1

B i

1
.. Correct Answer , l wgohg Answer
< If Black cuts at 1 and then plays 3, if Black \lgtg White connect at 2, he

th;g-w11it_f_: stones m the corner will die. toses his st ilés ‘in the sequence to 6.
W i oy

— 163 —
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~ Correet Answer

Black sacrifices two stones with 1,
sacrifices . aiother by throwsig ai
A& with 5, and wins the capluniit race:.

[

S rec A.nswe'r
If Black descends to I, he swill cap-
ture two white stanes after Black 3.

1

Rl S

T

42
Correci Answer
After punying 1. Black wie e the
: o S,

sy g

1

R T m T
A

cunturiig oo wWitl the st

Carreci Answer
Black .t forees White 2. .20 3, the.
Lourwhile stones above will die.

PROBLEM 288 - _ “&

PROBLEM 289

R S

i L 1
Answer

i
Wrong

Blacic 3 15 n the wrong digection. -
When White plays 6, i 18 clear that

Bluck lerses the cupturntg rice..

PROBLEM 287

A B
; Wrong Answer

¢ Black i first, Black wil fose two
stones w1 the gorner after 2 and 4.

Wrong Answer
1 alack plays 1, he will 4oy [ive
stone in the sequence Lo White 0.

T

“Wrong Answer ‘

Bl ek | doesi’lmcrease his Hberties. -

Black loses four stones after White 3-1.

v - 166 — i

SRS
: | i | :

‘ .:;E[.*_'i-aymg i,A,0rB.

LI T H
o ‘Correct Auswer
{ " Black can wil the capturing race by

PROBLEM 291

&

S Bt et A R A P

» Correct Answer

.. Black L1s the vital point for winmng
*tlsc captuiingrace. ‘

“ After White i and 3, Black can't at-

- Tack because hie is short of liberties. put he

PROBLEM 293

1
‘Correct Answer
1f Black makes an cye with i, he
-,ewins tite captunng racc.

of his

: | ~ 167 -

If Black l?iays i, he will lose his
stones on theileft.

THTos

! I 3
Wrong Answer

Wroig Answer

P!ayml IE or A first 1s the wrong
order. It iF now Black who loses.

!

& , | PROBLEM 292 - g |
. RPN A
g BLRHR
’ L = (3)-E3 3

e ¢ Correct Answer Wrong Answer

White Laﬁtures a stone with iand3,

lo%;e tis five stones above.

|

Wrong Answer

if Blagk piays 1, White 2 robs Black

cyr and he lives with a seki.




PROBLEM 294
b

ool

v Currect Answor Wrong Answer -
Blick'cun live by playuwg | and I Biack plays i, he cods up witly
G ' deud Fanace big eye alter White 2.

. ——T- PROBLEM 295
Ve 8
7 B

s
5 1]

@K
| l Ty O @
1 Te &1

JEy e vl
1 bl g@@é@ SE el
- Cowreer Answer * _ . - Wrong Answer ;
Bllf-:lcl{;--‘.igl‘\' ihe vital peint for de- If Black atans wiil 1, While cap-
tures .l peis his second.eye-with Z.

| PROBLEM 296° {- |-~

stroying Winte's cye shape.

A

z,

s i : ol

i . -

. Corieer Answer : Wroiig Answer
Black 15w vitel ol After 10 Black 1, Winie casily - gels his

socond eye with 2.

PROBLEM 297",

,‘ ![ LI -
Currcci'/ifm\\'m . Wrong Auswer .
If Black 1 and 3, White sun’t attack i Black capiurcs with': 1, Whltc

herd H nei it o wilh 2 i
pecguse hw s short of libertis, sohedics. easily gets two cyes with 2.
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¥
3

i
i

5 BB YR
o - Cbr‘?fé' t Answer
~ Black can live by playing 1 and 3. If
“White 2-ai'3, Black 3 at 2.

l;ldt,l{ lives by retaking three stones.

RO

- = Black 1 1sthc vyital powt for killing
*White. After 3, White has only onc Cye.

Correct Answer ="

","ﬂ Black ) and 3 are the vital points .

= for killing White.

PROBLEM 298

with a degd ??"-__space big eve.
‘prOBLEM 299, | 1™

-

striking at thie vital pomnt with 2.

PROBLEM 301

~ 169 —

SRR

CTT

e ~ :‘: .

R 2 9 @ B T
v B

¥ :

v oW (:Ei-igiArxswer
If Bladk ¢onnects at 1, he ends up

A
s

i Vré)r}:g)lnl‘m‘r b
1f Black plays 1, White kills Black Dy

o't IRt
‘%".‘W:"bngAnswer

I Black |1, White' lives with the
sequence | pio 4.

l 1
'

b

ht - ! l
% R
HE

- T Wrong Answer
Black \ll fails to kill White, us the
sequenceto White 4 illustrates.

1

.
1




— | Y i i PROBLEM 306 s
T R
i ‘ E2
b | : , R -
I s o . ; ‘ : S
. CorrertAnswc - Wrong Amwcr o ] C'O-"rccrAnswcr It ll o A
Biuck 1 and 3 are the wital pbmts o Bluck plays + and 3, ne loses {hree - ATter Black ¢ NN & €
Bven 1} White capttires a sio dies. ~ siones afier . so Whts Tives S After Black 1 and 3, it is not a soki: If bhﬂk 1, White easily lwesthhz :
en 11 White captiires a stone. he.dies, sioaes alterd, so VWiale dives. é w:  White is dead. and 4,
.PROBLEM 303 : ' Co T - ; . ?ROBLEM 207 L
L . 1 - ' T - -
' ; ' . i | | g
L o o 9
S X )@% )w- B f : :
, i @
CorrectAnsm . WrongAnswer : ! B
‘Black . followed by 3, kills the -If Black captures with 1. he dies. . .- T T
wl'ute siones. © . wl: en Wlutt, plays 2. : () Wrong Answer
- . 2yes If White I, Black 2 prevents thte
PROBLEM 004 st from getting two eyes, so White dies.
’ROBLEM 308 ||
-
Ceirrect Ans o - Wrong Answer
Both 1 oand 2 are the vl pownts of CAfter. White i, Black.csn't avoid :
attack and defense, The ko startswith 3, tiie ko. If he plays at 2, he d:cs.; o ‘j e " e
: ' _ . - ' : ;C_'{)rrectAnswer ‘ Wrong Answer e
PROBLEM 05 . R Wl_lltf{ can live ‘with a sck by It thte first captures with i, Black -
B ) L «playing [ and 3. 2and 4 k:}l White’s group.
: . . | AT
I . |t °ROBLEM 309 | i .
b : ; .
g 000
| T T80
D geson
LT R0
o L I " L SOO-G :
Cor’r'c_zéz}-inswer s Wrong Answer. i : - Correet Answer | ' Wrong Answer
J Black 1 turns the white cye f)n'the I Black plays | from ghe other 31(1 - 1 ; ‘Blgck 3 apd 3 kill White by muking If B acl; exchanges i for 2, there is
right into a false one, so White dies, it-becomes & ko, ! Cod L Tabent four m the corner’, no way White can be killed.
e ., ) '. - 170 — s - 171 ~




. . =i ' i
Copreci Anmwer  rong Aaswer o : Correct Answer |k Wrong Answer
- | - e G T - The. sequence up to Black 5 kills = 1 . whi
Blh.\ i 15 Uhe vital pomi for getting A tslack 1, While cancreate a Ko : Sy lq : : Bl Cki.‘.‘l anq 3 i_latCh the tw white ",
all g d-space h1b eye. with the seguence to 6 s : o .- uli the white stones. stones, but White lives in the cu.ner,
ying <-spuc : : : ' R . P - ; sk

- PROBLEM 511

PROBLEM 315 "
- iC‘one«:‘t.'fimwe
J » 2 E
Correct Answer o o Wrong ’1””::“1  While b - Black can live with the sequence o © Black}] and 3 catel two ston . but
.A;,Blugi; s H::c. vital pait. I White ;I[ ;h. k T;mnuxx N e s _Wlut(_: A, Black B. Whltem destroys Black’s seconc ve.
takes with 2, Bidiek 2 kills White, cughy lives with : . : . i ' Vo
‘ . e : - : : PROBLEM 316 | 1
PROBLEM 12 L - : . ‘l 9 ('T -
ir. ; - . B rod d i
i &, - -
| ; ' | i ST |
: Correct Answer | W’U”“J’A”SW”' ' L r C - Correct Answer ! Wrong Answer
. Bl'ﬂi i oand, 3 Kill 41l the white " Black 1.1 meffective. Whlte Lan live I Black L ‘tatches two white stones, Iack 1 and 3, White' two -
t o by playing 2. : \ o g 0 Black hves stones |escape 50 Black dies.
S.OHC‘\._ " '-' ' I . o i 1 | u b
| PROBLEM 513 PR L e e ’ PROBLEM 317 |1
¢ S S SN & | e @@%ﬁ@“
Pt rooeech BEERT: T 1EE @%
[T T O R O W Vg - P et il
S ossoe o XD
- " : ' ' ; E
. mp R R " ) ! | é%@
oS R e I | T
et Ajswer Wmugmtswer P o ‘_ ‘ . Correct Answer. : i1 - Wrong Answer
& - _CUHECI',”_W,L' art to the 2 Giving atari with § w this direction w00 White £ 15.the vital pomnt-for making if W ute exchanges | for 2, h: gets
5 Black hves' t?y giving atan ltows\?vhltc 1o kil him w1th ”Jl oy __3»two eyes. White lives with 3. only on.e eye 50 he dies.
:white stone with L. 4 b il - L]
' ) ' i ' 1
A — 173 ~ i i
—-172“_:_. = “E - ! ‘_!‘




PROBLEM 318

Wrong Answer
If Black i, White gets tworCyes and
tives vith 2. '

Black | anu 3 catch the four white
_stongs on e right, so White dies.

PROBLEM 319
ST

e Coprect Answes )
!%? White 15 the vital paii for getting oWhite 1, Black 2 and 4 destiov
i 1wo eyes and dite. White's speand oye, s White dies.
i ‘ . - !
o - i
£ L S X F [ PROBLE&'{ 32"} I i
& *y i g T y‘,};‘- L |
% o ROLK ;
- &G
iz '@@ :
% X ;

Coprect Answer Wrong Answer
Black gets his second eve i the cor
derwith T and SO 2 a3, Rlack 3at2, cas’t pet two eyes, 5o he djes.

.

g (PROBLEM 321
| obbods

l "_;%_. L }f"‘\( )f\ .

& 2001

. 4 o [

[ “ P (‘\J(\ A
v { . 183

: Car:‘ec\f /Inléﬁ;cr
Biack 1 and 3}kill White. If 2 at 3,
Black 2 at 2 and White still dies.

Wrong Answer |

and4,

174 -

Wack 1 fails. Alter 2 and 4, Black )

1f Rlack i, White can live x’yith 2

Rauies

Correct Answer
13jack fand 3 kiﬂ}Vhite. White can’t
: atari-Black’s two stones.

R U I
Correct Answer

Black 1 é;atches two stones on Lhe
jeft and or?e';‘c_)n the right,so Blac. ves,

| .! = PROBLEM 324 |1 i1 (1 j.11 ‘
il ‘ oL 1
| ! i A" i
. - A ™
14 phdciels RSN Al
| Correct Answer | Wrong Answer

White 1 and 3 are the vilal points
for destroymg Black's-cye on the nght.

PROBLEM 325

7 Correct Answer
Black 1 is the vital point. If White

"2, Biack 3 kills White.

O
T

A
Answer

H

‘ \ RN :
| T
J- | Wrong Answer
Captufing two stones with .
Black gets only onc eye after2 . .

If Whif;te i, Black canlive b.
ing his|second eye with 2.

|
1

|
]
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L Correct Answer
Black 113 the vital point. I White
2, Black kille White with 5.

W: ung A nswer
It Black prays 4 first, White lives

with 7 atid <

. PROBLEM 37

]\
. VWronig Answer

If Biack i, White 2 destroys Black’s
ey,c-_: shape, su Black dies. 7o

(,unccumn v
“ Black 1w the vital pontfor making
two eyes. ) White 2 Bl klwesmth?»

PROBLEM .:28

. Correct Answer Wrong/lnswer
o Black 1 o1s the vital pownt. If White - Blacik i is o bad move: After Whiie
‘cepfures with 4, he can egsily live. o

PROBLEM 329

VrangAnswvr
“If Biack I, White gets two ¢yes and
Lges with 2 and 4,

i Correct Answer
gr- Black. 1 and 3 kil White. 1f White 2
at 3. Black 2ul 2 and White stil} dies.

176 —

. Correct Answer | Wrong Answer

" Black { 15 the vital point. If White 2, aék i, White throws 1
thlc getr: 'HlOthCl Cye after 3 and lives. with 2, giving Blacka! '
e

: : Wrong Answer
§ \\’Lhﬂe can capture tw
w1th|1 and 3, but he dies afte

P‘{OBLEM 332

!
i
E

‘ C‘orrectAnswa
Whlte I: captures a black stone dnd

"i.‘f:g ._ @@

8

'sf‘n

L
L

T

|

&
Qﬁ\@% )(2)@2’ )@@ ‘\:
ar
-Correet Amwer _ WrongAnswer
After Black i and 3, White can’t ‘ l* Blacic i, White gets iy second
mve atart to thest stones, 50 '€ idies. eye at the bottom and livesw 2,
| PROBLEM 333; *i
|41
o
11 o - ‘
‘ |_ﬁ.! 3
1] 1
. i
{pummmns
Correct Answer \ 'l WrongAnswcr
Black kills White by sacrificing bt B!acKl White gets two  sswith
three stongs with 1 and 3. 2 aﬁd hves.

17T - M|
|

[



PROBLEM 33+

AEEENERE
] Wrong Answer
‘.niuns‘.‘:-:'r to §. White lakes the vital
Adter 4, ack’s stones die.

AT Attt
"Correc - Answer

Black § cosures the capiure ol three
white stunes. I White 7. Llack 3. pointof L.

PROBLEM 335

e S i
. Correct Answer -
Black 1 forces White 2. After 3, 1t Black piays I,
Black captures six-stones and lives: C died .
) - PROBLEM 336 | 1o~y y ) ettt —1- ‘

Wrong Answer '

b
o Correct Answer _
v SWhite §and 3kl Black by creating

& False eve ot the powt 1.

~ ing.g second Teai ¢ye with ZT-and 4.
"PROBLEM 337 '

g

Correei Auswer

Wi saves his 1WO stones with. L, A0 White. 1, Black gets @ second €ye

so Blacic vies. with 2 and 4, so he lives, -

178 -

1€ White 1, Black can live py:mak- '

g )
L 3 ; —1—'4' T % I
e Correct Answer | Wrong Answer
Biack kills White by first sacrificing If Black 1 first, White lives Wit

[ VLW LY BESL ) QP

.| two stones with i and then playing 3. sequengce to 4,

PROBLEM 339 | |- -
}i h
g 1 . ! I‘—i!?_l'!!llll.
L ' ; “V_orrectAnswer : - Wrong Answer -
G Blackel i the vital point for making 'Blagk {1 and 3 resuit in on.  ORE:
Lo life I 2 ut 3, Black 3-at 218 essentisl. eye after White 4, so Black dies. :
1 PROBLEM 340 |
5 |
: 1 &0 .
K D ! o V
. Do Gt \ %
' Correct Answer e Wrong Answer. :
Blyck| 1 falls. The sequen. (o 7

. Black 1 is the vital point. If White 2,
- Black links up with 3 and White dies. resuitlf) in" a ko,
|

PROBLEM 341

E
|

\
|
|
l
| +
|
|

o ' Correct Answer

A Black i ensurcs that Black will get 1f }Blzilck i, White 2 setsup  sndl

back,) so‘l Black dies.

1o twoceyes and life,

~179 — !




PROBLEM 346

i

Ol el Wroiny /iuswér o 1 ;
Whi'\u Ios e 'l it o en 4 .-\-\"’!ut‘.; i, Bleok Kills WAllilC by z _ WrongAns»lver 7
suring lwucycs andd 1ife, P a bose ey w2 and A - ' - \f White i and 3, Black can’t pui If White ‘1, Black gets 1w
: ;‘ - : - these. fwo stones into atart, S0 he dies. cyes w'tp 2 and lives,
‘; PROBLEM 347 N
| G 3
¥ L )
E L i ! \@@@ <
i ! il ] \ "
-_1w.‘_'!—" tl '} i | ) : : H
- Coreect Answer U Wrong Answer o o ! ! . Tl
Black kills White by -making an ey¢ Plack | fails, Afier 2 and 4, White T it : | - Wrong Answer
with & and 3. 102 2i 3, Black 3 a2, can get cither a ko or d seki’ ‘ ' Lo 14 3 prevent Black from (I the: order of maves 15 1¢
. S : it beo ):fm:s a ko after Black 4.
P 4 0 m . . Cot . ; Aol
ROBLEM 344 l_.. Je o] 4 S o . PROBLEM 348
s . . " .
. Wrong Answer: - . ] S P
- ) ar . L. e . . e i 2 T ) .
‘ r:vgllilt 1 s the vn.sl-_pomt for living. -3 Wl‘xitc l -Bld(,i( S:il’ll?ﬁb at thl‘T wital | . . o Correct Answer . i - Wrong Answer
. After 3, the stone at 2 can’t escape. po;:;lt of 2, killing White.” - o ‘o Black: 1+ ensurcs {hat Black will CifiBihek 1, White sacrific  thrce
" : 5 ' N T gettwo eyes and life. stones with 2 and 4, and Black 2.
- PROBLEM 345 ; S N N U
s , PROBLEM 349 ] o jﬁ@'ﬁ
E : -1 .. o
' 1 - .
? e |
: W2
b \ CERES
; S Corvect Answer Wrong Answes. L . ; Correct Answer | | wrong nswer .
:,‘Biurk suyves his three stones wifh } JIf Black 1, White catehes twoistones o I Black sacrifices twa stOnds and kills i :B?ack i, White lives = 1 the
and §, so White dies. - with 2 and-tives. ' | - - : White with the sequence to'S. sequicmie. to 4,
g B ‘ ; _ e L Lol
. . R
- I
-




i o
. - )n .t_w.,uim R
Y Correct Ansvoer
Black | 1s the wital puint. If White
2, Black 3 kills White.

Wrong Answer P

If Black 1. While piays on the vita
pointiof 2. After 4, White is alive, |
.k . - I

P‘ROBLEM;S}}

D[RR OO O

. "”Ty*w*'%""“l'* ||_\ﬁ+_l_l*

_ Wrong Answer : .

Capturing with ! fails. 'White re-
takevto the left of T and Black dies.

ik ERe
A anaan
.. Correct Answer
1f Black 1, three of White'sstonesat
the gdyewill be captured, so Black lives.

IR

|
& Correct Answer
“White i and’3 catcii a black stone,
so, White gels two eyes and lives.

PROBLEM 353

lﬁ @bt PROBLEM 351;—’." i @@%Ti J _uj--l !
sl ‘ \(2(_3){’[)- ! : __; l . >j 3 @‘7} :
NS . P
) " .
RisEsannnul

i

white | will capture a biack sione,
but the eye e gets will be false. |

: Correct Answer Wrong A nswer .
Bluck Jd 15 the vital pomnt. if While

2, Black 3 reduces White Lo one eye.

fail-. After White 4, 1t becomes a ko.

— 182 —

Peversmg, Lhe order with | aad 5

White 1 and 3 are the vital points
_ for killing Black.

|

~183— |

when !16 plays 4.

'1
i
’i
i
i
f

White 3 1s a mistake. Black v i live

gt
: | ks
- 8 Sesti
Correct Answer N | Wrong Answer 3
= If Black sacrifices a stone with I, he Black ‘i fails. After White it o
" can kill the white group with 3. become a Ko. e
e . N T
: & PROBLEM 355 & [o-
’ &E T i - 5
G T T LILTT
él,f’é AT i v ol
[' Bl N R
b SR RN 1 2
P o ‘|l_1 7 i! ! H i @@ v
0T Correct Answe . b Wrong Answer = =
Saérificil?g??two stones "with 1 and. Bllac'*"'li'an_d 3 fail. White wil. -ap- %
throwing ms‘a‘%u with 3 kills White. turc three Stones with 4 and live.
k- . 1 T
- - B
. B n PROBLEM 356 | | , L |
. T T . _'_‘,!$ [l !
| ILFNrrenung
- e i
. -
* oD S5
S6E st 0 (gr AREE
';C_‘t'?rrecrAnswer E Wrong Answer
L White - will get iwo eyes and life White 1 and 3 fail. After Bl i 4,
\} % if he plays 1 and 3. White end% up with a false eye.
w - PROBLEM 357 |4 | e
i
®L
- Correct Answer Wrong Answer
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U

G
J

/_

Wrong Aniver :
CIf Wiite 1, Black links up “to hig
two storics witi) 2, so White dies. ‘

Correci Answer
S White | i the vital nodit
2, White lives wilth 5.

i Bluck

PROBLEM 359

s bm‘M,'cfAnswu Wrong Answer

Black catchm a stone with 3 and lives. no way Black can live.

PROBLEM 360

P T

Wrong Answer
If Black }. White cun get z lwmb
4-spuce 015, gye with 2. ;

Correei Ansiver
acnﬁs,nu five slones with ¢+ and 3
gives Whuu 4 deud S-spues big eye.

PROBLEM 361
. Correct Anw,u Wr'mg/lnswer P
Black | 35 the vital powi. 1T 18 NOW If Bluck 1, White 2 pives BiacK H

zi seki,f_s_.o__Black lives. dead 5-space big cye shape.

Biack;l s’ the tesuji. 5 N‘h]te 2, Bluck -1 Fails. Alter White 2, here 13 C

PO

T
Correct Answer

_ Black kills White by sacrificing two
-;Jst.ones with | and: two more with 3.

B

can’t stop

Ii
Black 1

ng Answer

s:.a'After White 2, Bk

i i w PROBLEM 363
guk ;‘@3( o0
L‘% k)Q. |
i N !

I Wrong Answer

— 185 —

=z : . 5

|

I
1
H
|

: ect Answer
i  The combma on of 1-and 3 kills all 4 thte plays i, the resuli i
\ n the comet. . corner wﬂ} depend on a ko,
AN
- PROBLEM 364 |- '@@i -
v B I).ﬁ A é ! I
i : : it @ N !
i C & ST ' a0 ! |
i = SOITETIT e 1
_ RN Ll !
L Correct Answer l WrongAnswer
‘. Black 1 5s thie vital point, After 3, Black | ﬁnls White gets two
f-&’:hite is dead. eyes and 1 veq with 2.
PROBLEM 365 4 IS /% -
4y R g J
1T - A
f T %%@
e i 1
e ';'_ @ 2
ﬂ*"ﬁj}:% o
: RS
L - . Correct Answer { LCérrectAmwerZ
. Black I is the vital point. White 2 is Black could also play the seaqu
to 5. The rasu}t is the same as befo:

T
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= Correct Answer
_ Black sacrifices two stones with |
-and thetl gives White a falsc eve with 3.

e

welil] £

Correct Answer
If White lmm up his-stones w1th i,
the black stones will die.

o Correct gnswer i
Black can live ¥ fie capiures three -
white stones with | and 3,

J‘

1

"‘i"*

.

an .

g b O B
. : o g
ik

R 1

Correet Aswer

2, Black lives Wllh’g},

PROBLEM 367 -

. PROBLEM 368

PROBLEM 369

Black 1 15 the wvitalpowt. i Yhute

. WJUf:gAnm'u

H Bluik i, White makes his sccond:

eye with 2 and lives.

é?%%'g:
- ()@ A _

y

L

RPN -G H ]

s
. Wroag Angwer
If WH tc i, Black will mpture threc
‘stones ar! i live mth 2 and 4.

X
l

ComcrAmwer 2 ;
If White answers Black | with 2
White fosas five stenes after Black 5

U Wrong Answer
If Black takes fwo slones with i,
fie dies aiter White olays 2

+
f

- 186 —

9

e B AR e A AT

T

plays i and 3.

: | o
- PROBLEM 370 1 s
N DO BLEM 37 ! PN
B a vl o ; @ .,‘.@( b |
~ T @ " S @GO
T | » B
WP ¢ 0020
—I"; 'f_[ T T
o Correct Answer i L;_w?ng Answer SR
. White'd 1s:the vital point for mak- White i fails.; After Black 2, Whitc #f
ing two eves.and life. isdead; | f ay '
T PROBLEM 371 |
iagf @S0 -
i £S5 y -
sk R
. e
. ‘ . ,i - %TV
e . \,orrectAnswer WmngAnswer
Black 18 T:l}e vital poimnt, After ‘If Black‘ca‘ptures with 1, White i
- Bl';,uc 3, White i 1§ Heau catches six stories, so White lives.
Sz i S '
ezt PROBLEM 372 :
1# % — ‘
e Correcr Answer lw" ong Answer
Black i1 the ‘vital posmt, After 3, Black can capture three stones wiil.
d11%1e wliite stanes are dead. i, but Whltq makes another eye with .
o |
- l|—4——j~{ PROBLEM 373 -
TIItgEd i
. Sebrs T
X -j(l A
‘ E e JEX ) v ‘
. L4 |
i ¢' 6?& 11
D T [ _
4 - Correct Answer IWTOHE Answer :
- White. can live. withh a seki if he If White p]ays i first, he ends u,

with a dc;:ad \5 space big eye after 2,

— 87 —
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o Aliswer

¥os
=, A

Copree] Ay
Black v the vitabpun onlaek 2,
White 3 will cateh e bluck stoncs.
L \
PROBLEM 375

Ly Ll reverses the orderwl moves, .

e 10ses Dy stones whter Black 4.

e

T &

\ : \ it 1S |
: ’*\;\’\tt\;]{UC \*"l !

. Correct Answer Wrong Answers - ‘
‘Whitcwd 15 the vila pomnt. After 3, 1L White .plays |, Black lives' after
Black canl't capture White, so he dies. plawing 2. . B

' |

e e e PROBLEM 3

Yret \ SO0 O :
SGeB 1<
S &

Reference Dz'agr_&m
-3f White connects at 2.in answert tC;
1.-all of White’s stones are dead gfter 3

v Correct Answer

CBlack ©os the vital point, It ‘White
2, Black catches four stones withi 3.
' PROBLEM 377

Wrong Answer
- 1f Blick plays 1 first, Black will lose
eight stones, O White wilk live.! -

- Cerrect Aniwer
Gy Bluck plays I and 2, his stones

_cannot be captured, so White diss.

188 =

: : N e C .

pae T

RN

o e . <.W.,x.~:<e—,~§:,5_,_r_;?f-,q_}‘ ——
PROBLEM 378 | - |
H i ;

L I ! .
|; Wrong Answer o
Cutting at ! to force Black 215 the ‘Wiitel 1 fails. After Black 2 vhite v

vital move. After 3, Black 1s dead. has no follow-up move, so Blaci wes. wy
pROBLEM 379 | i
‘ o
i
R
N s ‘
. !
- h&
White i is the vital point for mak- . White: 1 fails. After Black = and 4_;.-_' '

mg life. IfjBlack 2 riext, White 3. Whit 67-;41&336.
5 PROBLEM 380717

1 ; i .. Wrong Answer
N Black 4, Black can't

eyes after White 2, so he dies.
>

. Correct Answer
Black 1 15 the vital point, Black can
make two eyes by playing at 3 or 2.

he two

PROBLEM 38%11 i

B
.
|
|

i
|
L; Wrong Answer

- Correct Answer

Biack 1 kills White. 1f White 2, If Black captures two stuiss with |
Black links up with 3. andl 3, White lives with 2 an¢
R .
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# Lorrect Adnswer
. Playmg | ensures thal st will
¥ win the u,aptuunc* rice, 50 Bluelo i
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Correc 1 Answer

Blaﬂk can capture two stones and
live with _1_and 3. ‘

o Correct Answer
o Blackrmakes two eyes and lives by
- playmg Land 3.
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Correci AnSWer
Black.§ 15 the vital powni. I White
2, Black 3 kiils W]ute

'PROBLEM 382

. : PROBLEM 385

3,

Wraong A
If Black -1, Wiate can
the black stones with 2 and .

T

- A

cupture. all

" Wrong Answer
Against Black 1, White ‘plays
4 and Black dies.

PROBLEM 384

] WrongAnswe)
Black 154 nustake, After Wlnte 2
and 4, all the black stones are dead

- Wre ng Answer
if Blach reverses the order of moves, ]
“White geis twocyes with 2 and 4

_:190 _

2oand

= After Joand 3, Black can't capturc a
.stone, so his group dies,

_.'_l'e‘:_:i
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@
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PROBLEM 3806

P

1]
CorrchAnswc 1 WrongAnswer
White \ fa;ls. Black piays 2 and y.ois
two eyes and:life.

PROBLEM 387 .
T Teas]

|

i 1 L
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A T ; 4 1
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Wrong Answer
Black . fails, White lives with a seki
_ with the éequencc to 4.

I’ROBLEM 388

!
-+

imaunl

Con ect/lnswer

&
|

Wrong Answer

If Black first-sacrifices a stone with
,l he w111 capture two stones after 5.

Correct Answer
Biack 1§ is the vital pownt for getting
- fwo eyes and life.
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PROLLEM 389

If Black atans with 1, he can’t vup-

ture any Stones after White 4.

{ iWrong Answer -
Agambt 1 White 2 and 4 crew:. 4
shortage tof hbemes, so Black dies.
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'pROBLEM 390 , ' Co

Cumu Ansives
Black 1 18 the vitdl oot
Blad\ CatChL:; {wo stonhes wid lives,

[T Blari reverses ilu u;dcr.ofmovcs;

with 3,
ne can’t got twoityes, 50 ne dies. .

: Correci Answer Wrorngnswer
Blécl\' s the vilal point. ¥ White 1y #lack .1, White sacnﬁcw fwo .
2. Black 3 kills winte. stonesand gets IWo eyes witirZ and &

PROBLEM 393

WrongAnswer

Correct Answer ’
{£-White plays 1, Black escapes with

Whne ] catches @ black stone, S0
Whne gets two eyes and life.

2.50. Vlnte can’t get two eyes ‘e dies.

= PROBLEM 391 E
i
‘* ‘:
i L
T
! v
CorrcctAnsne! . Wrong Answer ' o __
Black { and 3 catch two stones, 80 If Rlack I; the life of th& b}ach " ST
i group will §1ingc on the result offa Ko.. _ t
PROBLEM 392 , S T S
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Correct Answer i
Bluck 1 1s the vital pomt. If White 2, {f' White|answers 1 with 2, Blu
o Black 3 kills all the white stoneés. also kills| Wlute s group
. PROBLEM 395,
" \__:l_f ) 1 E: @é“‘ ‘
Date C e
I 51‘5 '
THH 1? = '
1 I ' ! H - i |
LT -ﬁl;.-t-ili B o v e R
CorrecrAnswer N .WrorgAnswer
Wlnte 1 is ‘the vital pomnt. Next; If Wlnta 1, Black strikes at the tal
- Whntﬂ Aor Wh‘lte 3atl ma,lcestwo eyes. . pont of 2 ‘md Wh1te dies.
PROBLE‘vl 396 4 b Vo
e
- @&
>
|

f ::1._.1 -

_ Correct Answer -
Rlack 1 catches the three endan-
-, gered white siones, so Black fives.-
{1 PROBLEM 397 |

7

Correct Answer
Black 1| 1s_the vital pomt. Next,
Black 3 or Black 3 at 2 makes tWOEYeS.
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Black i
2,80 Blluck

r M .
Reference Diagram

i Wreng Answer

dies.

1

|
T
B

| !‘ Wrong Answer

1f Blaok plays 1 and 3, he e
with orflykone eye after White 4.

]
|
i

fails. White can éscap:

3

vith

s UpP
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Corrcr.uumm

Rlack [ 15 the only move. 11 White

2, Black 3 will capture some stones.
PROBLEM 399

“ f‘orrectAmwer
Blacl{ { ensures that Bleck will gct
one eye at the top and live.

o Conecr.fn HEWEF
Black L and 3 will capture at 1cast

three stones, <o Black lives.

_ Correct Answet
SThe only way”
start a4 ko willy i

group wm hihge on the fesult:of a ko

PROBLEM 400

PROBLEM 407

Tor Black to live is to

194 —
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1

: oo
chcrcme Dragram
it ‘\’\ Hite answers | with 2

TBlackd = Y-
will cariture three stones. 80 B] ack lives. '

y o

i

" " i

i . <5

[H B Ok o

Wrongmzswer ' = . . e

If Black L. tht life- of ihe b]ch I T

i T
| - A
i

Wrong Answer - -
Bizck 1 lails. Even if Black c,apturcc A
‘l
two stones, he can't live, ; o : i:

"Wrong A nswer:
if Black 1, Black can’t get two eyLs- .
alt.r White 2, s0 he dies. : LT

PROBLEM 402

Correcr Answcr
Black kills White by making a 3-

® ¢pace big eye with 1 and 3.

i

! f‘orreet Answer

: Black 11ves by playmng 1. After 2,
- Bla'g:kcgltc}ws tiree stones with 3,

- “Correct Answer
White 1 is the vital porat. After 3,
White can get his sccond eye at A.-

- Corr ect Answer

~White 1 is the vital pont. With 3,

White gets two eyes-and life.

PROBLEM 403 |-

PROBLEM 404 |

PROBLEM 405

1 W}ongAnswer
B}ack ] fails. White gets two eyes
and, hfé afte: he plays 2.
I - : '
, ' [ p \2
IR D :
; AT !
- Wrong Answer -

the.

Blacl{ 11 ‘fails. After White _.
black c'mup is dead. .

!
|
|

|

If, Whlte 1, the life of thy whitt
grou;i w111 hmge on the resuit ot 1 ko.

Wrong Answer

x Wrong Answer
‘iWhite t, Black strikes at e vl
of 2 and kills White.

i
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“ie the vital powt. 1§ Black

W‘ f+’“"'l BN T R S [ .._’_.

W, wi'gAumc
If Wlutu 1, it becomes a ko al ter 4.
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- Correct Answer
Black: 1 kﬂ]s White smce Black can

T

erecr Answer

) E Correct Auswer
After Black 1 and 3, White will get
g false eye.on the night, so he'dics.
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“Wrony Answer ;
If Black 1, White mimediately | ;,cts ,
two eyes with ?., 50 he lives, '

' '; _ ~Wrong Answer _
Blaci 1 is .the vital pomni. If White If Black 1, White 2 and 4dwkill
‘Z,Blaul\S catehes that stone and lives. - - Black. . ‘
PROBLEM 409

“‘@’ : v._v;';. -

LA

- Black 1 1s the vitai point. If White 2,
B].—lcl\ gets anothereye at 3 and lives.

‘ Bidck sacrifices five stones with 1
'atd 3. When Whlte plays 4 —

& é@&%ﬁ%
R0 AN

1

T

Corrcct Answer
Black 5

’l\ § k)} :
t@f FEET

If White i'at 4, Rlack 3 kills Wh;te 1 w link up ‘1*'3 or one line below 2, “black Ston
PROBLEM 407 Co ' PROBLEM 411 = |
] . N -
! v -
T I R '
Sy BRI NR R SR L : WrongAnswa
__Corf'gcrAnswer _ - Wrong Answer Wlurc i an 3 Ld[(.h four stones in a White a‘nd 3 fail. After Black
“and 3 catch six stones 1f White-reverses the order of moves, i ] all ofth“ ’s}stones die.
Black lives with 2'and 4, PROBLEM 412 l]; N
. _ : < sy i L
! T
PROBLEM 408 , _ , . % -
& | )]

' Continuation
ard 7 reduce White to ¢ ¢

big eye. Bllaclg 5 at 6 also Kills White.

JQOOCQ(\ PROBLEM 413 | _
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‘Correct Answer Wmngflnswe

If sBlack. }, White plays the vicil

‘ﬁm} Black dies.

o
[
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PROBLEM 414 -

"Cm rect Answer
If: "Blauk pitys 1, the three white’
stones'can t escape 30 Black lives.

N it’mu;, Answer
It Black [, While saves his stones
with thi sequence to 4 and Black dies.

PROBLEM 415 .

‘Correct Answer - Wrong Answer :
White : kills Black. if Black takes { White 1. Black makes two eycs

two stones, White retakes. and l\ gy witlh 2 ” and 4.

‘,E 4 .

"y _ ~ PROBL ,Mt%!ﬁ ;

; S«,‘qi [ ; ] B

g R Lo

i ITROSS 6. st |

s _ Lgea-- 00 \)@M——'— : :
2 ' Wrong Answer

Correct Answer
After Black i and 3, Whitc 15 gead If Black smply plays. 1,,,,_\‘vhs.tb 2
Lecause he'ls short of liberties. - captues three stones, 50 Whﬁn 11ves

PROBLEM 417"

. Correst Ansywer Wrong A nswer
White can inake b ¢¥es and live
with' 1 ank 3. Biam playsai 2 2 and White dies.

198 -

I IWhile tokes oocstonesTwiin 1,

A .
N

1 Bl G-98 —
. | Esgecesc+
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. '. h . L 1_ |
.o° : : Hilli!!!'sil
oo " Correct Answer: ‘ B Wrorngnswer
. Blackt 1 :is the vital pomt. Next, Blackw catches two stones with 1
- -Black 3 or-BIa'ci-’: 3 at 2 makes two eyes. and 3, iJut he is dead after White 4.
: T f-L PROBLEM 419 1
& i .. E
E i) -
i h §
i il ' %
A - ~
‘h - 1 H II H H
: :\,orrecrAnswer ] iW._*angAnswer
Black & 183 the vitai-point. if White If Blick: 1, Black loses three stones

- PROBLEM 420 (14|

i iEE

L

\; ,:__( :

i L | Wrong Answer

PROBLEM 418, | |

2, Black 3 kilt s'Wlntc when Whitd plays 2, so White lives.

‘ on ect Ahswer
. Black | ;s the vital point for gIving
' “White a dead 5-space big cye.

. PROBLEM 421 ' o

if Blhclﬁ 1, White can live with 2
seki afl Ler he plays 2.

RaRiee. ! i |
HOBaU e IR O 4
A O X 20 A LSBT
wdemd o WS "1‘;'/ Y p-i . 2 -1
1.._ ,_.:ﬁl.,,! £r st )
Bl T : 1 NS
Co:recz/lmwer T i ' Wrong Answer: T
Dlick 1 13 the vital powmt. Next. Ir Blau( i and 3, White 4 kills Binck.
Black 3 or Biack 3 at 2 gives Black life: If1at 31 White 4 aiso kills Black.
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